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1. At what speed should a car travel on a highway to reach a destination 12 km away
in 15 minutes?

(A) 64 kmph (B) 84 kmph
(C) 48 kmph (D) 36 kmph
1. e 12 5. W, @99 o%a B 15 [t o AR Q<@ THae1eicy e (@5 a@r SR
Mo 2
A) 64 5. . =fs 951 (B) 84 f5. 3. =fs g1
(C) 48 5. . =fs g1 (D) 36 5. f3. =fs 751
1. @3 o e Fo aifecs goc 15 R 12 Reeenfom e s ¢t 2
A) 64 5. . afe 951 (B) 84 f. . afe g1
(C) 48 5. . =fs 71 (D) 36 5. 3. =fs 751
1. T8 TSTAEEE T8 AT S TRt " 15 fufem 12 6o fio e armm?
(A) =veRETE 64 fho fo (B) =vermE 84 fho o
(C) =vermE 48 o fio (D) =vermE 36 o fio
1. 15 fime 9 12 forarndfier g forell Taea % TgeH & [T T R 1 TSME W fhd TR 8§ =@
=Tfee?
(A) 64 foho Hio ufd =rer (B) 84 foho wio ufd =rer
(C) 48 foho Hio Ufd =ar (D) 36 foho Hio ufd =er

2. Which word would be the last in a standard English dictionary?

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
2. GBI o BLAIE SFSYTS (oI ¥ e AfF 2

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
2. I 3CEME ST (e >0 (T AR 2

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
2. WM 5US AR fogem oe Aiaren e S ¢

(A) ADVERSE (B) ADVENT

(C) ADVENTURE (D) ADVERTISE
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2. UMk TS YGRS | hIH-91 I8 3{cH BIT?
(A) ADVERSE (B) ADVENT
(C) ADVENTURE (D) ADVERTISE

3. Identify the correctly spelt word.

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
3. W& IS Wbl DS T |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
3. P TR > (b *S T |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
3. TR 1Y HieEwE! At

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor
3. T T ATl 37 I T |

(A) Moderator (B) Moredator

(C) Modarator (D) Moderetor

4. Which of the following words cannot be made using the letters of MENDICANT?

(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
4. MENDICANTS S[497792 2[4 4 FHie st =< oo S @i 2
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
4. MENDICANT-<3 SFFa&e] IR ¢ IO (e <0 215 a1 IR A1 2
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
4, MENDICANT [ eraI®rR@! seEH TeE o« Hielewd! gt grean?
(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT
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4. frfcfiaa & @ #F-91 s MENDICANT o 3181 hl 3URNT shich Tl ST ST Hehdl &7

(A) MEDICAL (B) MEDIAN
(C) DETAIN (D) ANCIENT

5. At the Youth Parliament, certain number of country representatives sit in a linear
row and all are facing the audience. Only ten persons sit to the left of Estonia. Fiji
sits eighth to the left of Estonia. Angola sits fourth to the right of Bahrain. Canada
sits to the immediate left of Denmark, and Denmark is the third from the extreme
right end of the row. The number of countries between Estonia and Denmark is
same as Bahrain and Estonia. Only six countries sit between Angola and Canada.
In total, how many countries are seated at the Youth Parliament?

(A) 19 (B) 21
(C) 32 (D) 17

5. @bl I AOWS (FIA (PR Al wheE 4 I sl *i[e ez | GeBIFRE e
(e wRAIF! WS A2 | GCEIFRI ST TEN FAO G AR | ARCIEAT A CIFIE v
BAO QolEl AMRCR | (TN 0% AEFIE AR SCR FAC], WE (TN MO GCHCT
CIFER 99 °} $OR TMo SR | BRI SF (TN qe@ (™[ TR AR S
GBI WIE@ (P SR CICS IR | QRCalTeT S FICH e WG 24 (2 A2 =0z | 39
LTS 0o e o 2ifsfifd afe wee 2
(A) 19 (B) 21
(C) 32 (D) 17

5. 9 AT, I8 R4 (e sl @3 Mfice TR G9R e W AR | W e
qRIeRE I Wee I¢7 Wz | e, GuEiRE A BN BT I¢0R | SICHE, ARCEeed
T B9Y B TETR | FIICI, (TNICE 0 AT TER @R (TN A 59 T 2013
(ACF PO | TR €3 (TR & (O AR ARCH2A €3 GCRIRIE T | SICHE G
FCE T A1 TG (7 ICTCZ | 3 FTW (15 6 (0P 0T ACACE 2
(A) 19 (B) 21
(C) 32 (D) 17

5. A8 A G HIE@W BElH ARHRl TRUTHREE wiEl S HH - A9 wiEe e |
e e rmfafs wnferer’ amfaeR foeeet | i ve et sfatafrer srgafeeme ) o e
e merfEE e fSrEel | wreE SmEe smfafy qisre se S afd
T mmfyr arfeeme &) v e o SR AoRrE e BT €, Sete TR ued T
ToRTEe THETSHI | 3 AT TR HHTSIH 190 Teel Sel®iRT foRme | Tl 7e8 gk o o

A GEeTd fSREET €7
(A) 19 (B) 21
(C) 32 (D) 17
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5. J91 Ge § %o ida gen § u & ity uew et ufe 4 Sed § i weft awiel i o He
Fh IS T & | TR I aTE 3TN ot o9 = 93 2| fesfl, weeifan 6t o R ermed wom W
2| ST, TEH % I F AN T W 7| FATRI, STUTh F ek a8 3R AaT 2, 3R SAumh ufth
ifom 3l BR ¥ TR TF W B | TR 3R ATk o S 39 A g Seld R uwEiE %
THM 7| S 3R FATST & i hadl D8 991 93d & | Fol et fohas 31 gar g9 § dad 87
(A) 19 (B) 21
(C) 32 (D) 17

6. Which option is similar to Pencil : Student : School?

(A) Mouse : Eat : Biscuit (B) Computer : Officer : Bank
(C) Pen : Writer : Book (D) Cash : Shopkeeper : Goods
6. (IO e (vifdest : PRl « Rwoler sTasa 1 2
(A) ﬁﬂﬁl:W"T:ﬁ@ (B) I+TOR : [l : @F
(C) FoI9 : (314 : fForl (D) 5% : (AR« AT
6. (P b P : =ig : RWeR-9g S ?
(A)%@:ch:ﬁ%j? (B) I~+ToE : wfeFIR< : =
(C) T : (314 : 92 (D) <4 : AP : 7Ty
6. F& TohaT U - T : BRI ST 9
(A) TSR : S : foge (B) AR : Ara@ filt : S
(C) W : ferfift : foutmar (D) T8 T : TARR : s@TE
6. -1 faehe R : B : TR o GHE 27
(A)ﬂ@’[:@ﬁ:ﬁf@lﬂ (B)W:af\wzam
(C) ™ : oRge : fopara (D) T8 : HMER : HHH

7. If REAR = 42, TEAR = 44 and DEAR = 28, then which of the following sets is
incorrectly paired?

(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

7. I REAR = 42, TEAR = 44 9¥ DEAR = 28, (93 WS (o] (@[ S9% 2
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31
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7. AW REAR = 42, TEAR = 44 @3} DEAR = 28 ¥, O(J (b4 (PG Lo (STl 2
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

7. I REAR = 42, TEAR = 44 3T DEAR = 28, 37ecll MeMH a6 ST oS 1 S1a61 7
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

7. af¢ REAR = 42, TEAR = 44 3X DEAR = 28, di f=fafad o & fi9-91 92 Tad o 4

Srer T 27
(A) PEAR = 40 (B) FEAR = 32
(C) BEAR = 26 (D) GEAR = 31

8. Find the best option to fill in the last term :
CIRCLE : GEOMETRY :: POETRY : ?

(A) CHAPTER (B) BOOKS
(C) PROSE (D) LANGUAGE

8. S “MCbl ~[7 IR AP KBl el T
T8 : EIfNfe :: el @ 2
(A) SEOR (B) e
(C) ™ (D) =/
8. O b 7S T Ol Rpafs ot
e : TS :: el @ 2
(&) s B) =
(C) o (D) =/’
8. W@ HiGE@! g WA A et |r=a
G : AY GRS
(A) AT (B) femtmar
(C) TFTE (D) 1=
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8. 2ifam ye = v & forw waw foeren @ifsiw -
A+ SATHIA :: 1T« 7

N IR (B) J&Th
(C) T (D) e

9. Identify the pair with the same relationship as Child : Vaccination.

(A) Fever : Medicine (B) Food : Cooking
(C) Plant : Pesticide (D) Animals : Food
9. g : BFreaeR el TFAYS @RI Pre F |
(A) &9 : 89y (B) < : I
(C) Tfew : o (D) &% : ¥
9. Frg : TPPRI-99 JCOI G2 T~9((F Gfo 1S T4 |
(A) =9 : 8y (B) < : <l
(C) Tfew : Fioars (D) =@ @ <
9. Ty : AUTENE amfe WEEl AT SrE fomte |
(A) AHSHE : Gfd (B) &R : T
(C) sl : Tl frerman (D) e : 3ATGR
9. =T : HHT %k THH HaY dTt SIS i Tg=H i |
(A) @ : qdn (B) @M1 : 9ehrl
(C) e : TS (D) 9 : HISH

10. Which of the following words would not fit correctly in the sentence?

hit on his head.

The person died of a

(A) lethal (B) fatal
(C) deadly (D) subtle
10. fHfIl® (PIFCET > =ws FCOTS Q1o T 2
T SIS FoTS G T9F (20T |
(A) wOTT (B) e=ret
(C) T_Ig (D) ™
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10. ‘el R e (o T[T 177 @3 IR0 ACEI (@I 270 AT A9 AR

«?
(A) ®TIS (B) le=rel
(C) T (D) =
10. TEEM 99 AR AR SHE SIUTEE G STHE 817
o R WA QST 9T
(A) Fr@ema (lethal) (B) WU (fatal)
(C) figeTqg (deadly) (D) 31 (subtle)

10. F=ffaa & @ wF-o1 wse ar # 9t @ ¥ e & e
fR®W___ 9eR @ =atw it Oid 2 T
(A) =ITdh (B) SHeian
(C) AR (D) #g

11. What would be the correct sequence of the following words as per the standard
English dictionary?

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2, 3,4 B) 4, 3, 2,1
C) 4,2, 3,1 D) 4, 3, 1, 2

11. 3 396! Sfeq SFPIR 2me *<rTies wa R0l 6 272

1. Royal 2. Regal 3. Renal 4. Rebel
A 1,2,3,4 B) 4, 3,2, 1
) 4, 2,3,1 D) 4, 3,1, 2
11. @31 Sl BRfe SfSy SRl 2e WS AT @ F 23 ?
1. Royal 2. Regal 3. Renal 4. Rebel
A 1,2,3,4 B) 4, 3,2, 1
) 4,2,3,1 D) 4, 3,1, 2
11. TTE AFRTET 3OS AR Sge™ o aRfed s SR 71 SeH 7
1. Royal 2. Regal 3. Renal 4. Rebel
A 1,2,3,4 B) 4, 3, 2,1
) 4,2, 3,1 D) 4, 3,1, 2
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11. THF TS W3RN o STJAR 3 W31 1 Tal W F1 2T 7

1. Royal 2. Regal 3. Renal 4. Rebel
A) 1,2,3,4 (B) 4,3,2,1
C) 4, 2, 3,1 D) 4, 3, 1, 2

12. Select the appropriate number to correctly continue the sequence 27, 30, 37, 50,

?, 98.
(A) 69 (B) 73
(C) 81 (D) 91

12. 27, 30, 37, 50, ?, 98 *R¥FCH WA(F SBIARE AT TS FRITCG! 715w F9 |

(A) 69 (B) 73
(C) 81 (D) 91

12. 27, 30, 37, 50, ?, 98 @b T BRI @C® TS RYIG FH=1oe et |
(A) 69 (B) 73
(C) 81 (D) 91

12. HIRGE! oS ATTTEARH STRSTE SHSHRE! 99 |
27, 30, 37, 50, ?, 98
(A) 69 (B) 73
(C) 81 (D) 91
12. 1A 1 U2 @ ¥ I wad & fore 3faa wen w1 == fifu
27, 30, 37, 50, ?, 98
(A) 69 (B) 73
(C) 81 (D) 91

13. Pallavi claims to be taller than Jyoti, but Smita who is taller than Pallavi knows
that Pallavi is wrong. Which of the following can be said about their height?

(A) Pallavi is definitely shorter than Jyoti
(B) Pallavi and Jyoti are of the same height
(C) Smita is the tallest of the three

(D) Cannot be determined
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13.

13.

13.

13.

JEIC TR WA @ O (wifeels ev, [F7 dEarecs ¢4 feR i @ “ENN Tfe wel |
(SECTR T oS RIS (FRICE F7T AR 2

(A) “ERI P (SfoetE BI%[

(B) /@< S Cenfeq Twel ST

(C) farer R RIS TRICeis e

(D) ey 77 e

F1 Tocece (Sifed (5@ =751 Jce Wik eq, % o), @ @3 6 o9 O Qi @ 7@l
ST | OIn Tl e S (PG @ T 2

(A) = SRR Cenlfed Cbe ICh!

(B) “I@<l @R (e «F3 THOR

(C) Fro fomecem Sea T

(D) Teefime =1 T =1

ugsfan mewt safafgg Sifem g o, e gsitagg St faarn ugeft amamn G
B THfemTt | fordief Shermswell S e e e ?

(A) gl Sfafrge TEfem

(B) Ugst R Safa=n w@e Sh

(C) feirarn wumfy TeE i

(D) T &

ugel, St @ @t S H1 a1 A 7, Al fEan, S uget @ @t 8, St @ R agdt e 2
TRl S & =R § frfefiad # @ o et S gehar 27

(A) uge fifea w7 @ s=fa @ s 2

(B) dget 3 sefa it <iems wwe 2

(C) Toar =t & T=@ @il B

(D) T & fopam S wekan

14.

At a college function, Romola pointed out to an actor and said, “He is my
mother-in-law’s only son’s nephew”. How is the actor’s mother related to Romola?

(A) Aunt (B) Daughter
(C) Niece (D) Sister-in-law
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14.

14.

14.

14.

JETG 9P SRS AR G SOOI SISRRIE W, ‘(08 (WIT W2 Tizq GFAE TG
Tl | TR OO TS IOl qoq 79 1 2732

(A) €@ (B) SRS
(C) iyt (D) =T

GFH FCACEH SR, TN GG SfecTor e 2fere Fa qcelreeer, fofl SR *mrefe
GG (2CEE O | ST T 9967 A Fred F=oIFe 2

() = (B) o

(C) =iy (D) <

T PR A EETETeTE WA weETRe REEe gam, R oy R
T FraTenty fem | S RSt e W A S

(A) fomre (B) frams

(C) femrme DREELI

TS FHictsl GARIE H, UAISAT 4 Th (AT 3ht TR W FLd Y Fl, a8 WU G % Ihalld o
e 27| i i ot 6 Jure ¥ o Hey 27

(A) == (B) =&

(C) wsit (D) =

15.

15.

Find the best option to fill in the third term :

Gravity : Newton :: ? : Copernicus
(A) Blood circulation (B) Heliocentric system

(C) Rocket (D) Radioactivity

T “MCH! A FRACA SRS RIHeh! e s
T : T 2 : PRI

(A) TF ALFER (B) Tus for
(C) =D (D) (&Sl
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15. SO/ i “Feed & O et o -
Qegel « ISh1 o2 2+ (PIomafeem

(A) T AERE (B) TS w7
(C) AT (D) (TSl

15. MY HiGEE! 1Y WA dateq fhat ara’
STATHT = =2 =2 7 2 FATHHH
A) & TrERE™ (B) efarsrafs aif
(C) The (D) g1 Tmmfy
15. gl 98 &l W % foru wamm ey @ifs
TeCAThuUl T : 7 : HIH
(A) T aRE=RoT (B) qI-chiseh Jomet
(C) Tehe (D) Yfehafifar

16. Consider the four numbers given here :

I. 376 II. 629 III. 921 IV. 397

If the digits of each number are arranged in ascending order, which new number
would be the smallest?

(A) III (B) II
(©) 1 (D) IV

16. 27e BIfRG! 7327 [Eanen 59 ¢
I. 376 II. 629 1. 921 IV. 397

2fSChl TR SRFCFLD] CHGAS FG(CHT (FIICHT Tgel FRE T PeToy 27 2
(A) TII (B) 1I
(C) I (D) IV
16. ITo Cred SR A4 RCaval e -
I. 376  IL 629 0L 921  IV. 397
2/fSfb T STFRfTCP THEEH AT 2031, (Pl T9w FRMM FAOT 23 2
(A) I (B) 1I
(©) 1 (D) IV
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16. THH HHS SHSETHRE! AR 2
I. 376 II. 629 III. 921 Iv. 397
Sfe AFHmEEl FARNHN FAF®RE! StaH™ SiRErE dsEl, 3Tl 96 MeH AR safgg
ERIEEISIICE
(A) III (B) 1I
(C) I (D) IV
16. I 9 T 9R G R foEm fifvw
I. 376 II. 629 III. 921 Iv. 397
Ife Yk T ol TR A | Fafedrd R S, @ sH-H T g aed e 77
(A) III (B) II
(C) 1 (D) IV
17. Find the odd one out.
(A) Sparrow (B) Crow
(C) Bat (D) Peacock
17. el *w@ehl [oifS Tlernes |
(A) =D (B) <FIT
(©) g (D) T 512
17. R {oe @1 o |
(A) BOR (B) FI®
(C) e (D) =R
17. TS W@l AR Qg |
(A) @@ (B) =@
(C) memtiet (D) @rstE
17. 3AWS &I qg=T- |
(A) TIRET (B) it
(C) =mmes (D) AR
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18.

18.

18.

18.

18.

Pointing to Sarat in a photograph, Malini said, “His brother’s father is the only son
of my grandfather”. How is Malini related to Sarat?

(A) Aunt (B) Grandmother
(C) Mother (D) Sister

G FCOIEFS o9 B SRR AR $'cl,— (9¢7 ©Ofgq e (7 FRMTOR
GG TR | felell *[qe] S (FIe AFACI Aol F@ 2

(a) 93 (B) =zl
(C) e (D) =

GFf =[S *Re-99 F 3fre I el e, OF SiREE el SR e g
@ | e eI *[e-9F A% 7=IfFS 2

(A) R (B) frema

(C) e (D) =@

e Ta i ogme mieen gam, ot faerf faeen snfy ey e feeren”’)
Tifert 3TRI WAty Ari=arsT q1?

(A) forme (B) forr

() fomm (D) T’ /fommma

T TR IR A AR TR FA g AR T w1, ThEh 9 F fiar W st F gehedd 9o
2| wiferdt, s @ fore yepR waferd 27

(A) == (B) @t

(€) = (D) =&

19.

19.

19.

If ROBOTICS is coded as OROBITSC, then PROJECTS would be coded as
(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST

gt ROBOTICSE OROBITSC 2513 ¥'T 41 =, (908 PROJECTST F°T 2'9
(A) ROPEJTSC (B) RPJOCEST

(C) RPJOECST (D) ROJPCEST

7t ROBOTICS-9q (e OROBITSC ¥, ©¢d PROJECTS- 4 FFS 2¢4

(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST
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19. Jfe ROBOTICS f7 & OROBITSC, 37sal PROJECTS 1 ar Simia
(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST

19. 3@ ROBOTICS &I OROBITSC & ®9 # =hifed foha1 Sa1 8, @ PROJECTS = v/ &9 @
g fopan STum, o @
(A) ROPEJTSC (B) RPJOCEST
(C) RPJOECST (D) ROJPCEST

20. In a zoo, the lion’s cage is towards the East of tiger’s cage. At the exact South of
the lion’s cage, there is bear’s cage, which is towards the West of cheetah’s cage.
In which direction is the tiger’s cage from the cheetah’s cage?
(A) South-East (B) North-West
(C) South-West (D) East

20. 95 PDRAAS FrReg SEICH AR SR o[ FE W | Pirea e % wiEwe T e
5191 BICE, RO POREE Qe <15 FICE SICE | AEF SIECo] [ORTE 9I<eTd #[1 (Feol e
21 2
(A) wFRa-2[ (B) Teq-7fy
(C) wfEFa-o{fs (D) °=

20. 36 BfEER Fireza 4wl qcea E 7 s | Fireen GoR % v aace o 4, @
foor bR <15 e | oo <16 (e ACTR Aol (i e 2
(A) wfEpe-o (B) Teq-#(*5x
(C) wfEpel-#(P5u (D) 7

20. T JARETfeEmE fae i st @ wesil e 'R eeeil ety ged
HHSTR SR et s dmmete | @t wesien fearf wesmid s@fs omar?
(A) TeT-HRSTET (B) w@n-@HTEfS
(C) EeAT-HHTEy (D) TSI

20. T fafearr # IR =1 fisw, s & iR & ud 61 3R 21 IR & R & ik sfeawr § wireg =1 fosm

2, S <far o fosR @ fdm it 3% 2| <fiar 6 fisr @ e o fos fore foem o 27
(A) sferor-gd (B) IW-ufzm
(C) <feur-ufim (D)
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21.

21.

21.

21.

21.

Find the value of [(107 +102)+ (103 +1072)]+10°.
(A) 100 (B) 200
(C) 2 (D) 1
[(107 +102)+ (103 +1072)]+ 10° T I (g 55 |

(A) 100 (B) 200
(C) 2 (D) 1
[(107 +102)+ (10° + 1072)]+ 10°-9g 1= foiefy et |
(A) 100 (B) 200
(C) 2 (D) 1
[(107 +10%)+ (10° = 1072)] = 10° f1 wH fag|

(A) 100 (B) 200
(C) 2 (D) 1
[(107 +102%)+ (10° +1072)]+ 10° =l HH 1 =Hifsw)
(A) 100 (B) 200
(C) 2 (D) 1

22.

22.

22.

If A:B=23, then 144A : 36B is

A) 4 (B) 12
(C) 3 (D) 16
I A : B =3, (93 144A : 36B 3 T+ 27

A) 4 (B) 12
(€) 3 (D) 16
M A : B =3, 94 144A : 36B-3 T 2

A) 4 (B) 12
(C) 3 (D) 16

SPACE FOR ROUGH WORK
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22. §f¢ A : B =3, 3% 144A : 36B T wmn
A) 4 (B) 12
(€) 3 (D) 16
22, af¢ A : B=3,dl 144A : 36B &I 4N
A) 4 (B) 12
(C) 3 (D) 16
23. The fraction equivalent of the recurring number 2-19 is
271 217
(A) —= (B) =—
99 99
219 291
C) —— (D) ==
90 90
23. (el R 219 T I@el B2 (2R
271 217
(A) —= (B) =—
99 99
219 291
€) — (D) =
90 90
23. S YN 219 -4 el B 23

23.

271 217
A) — (B) =
99 99
219 291
(O) D) -~
90 90

2.19 SEARUTS AR SHNSHIA G SiEE @il 7

271 217
A) -5 (B) =—
99 99
219 291
©) <+ (D) —~
90 90

SPACE FOR ROUGH WORK
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23. Il T 219 w1 guged fie g

(A)

©)

271 217
e (B) =—
99 99
219 291
=7 (D) ==
90 90

24.

24.

24.

24.

24.

The largest of 26, 35, 4% and 5% is

(A)

(€
26
(A)
(®)
26,
(A)
(®)

26

(A)

©)

(A)
©)

26 (B) 3°

44 (D) 53

35, 4% 9/ 53 FAACHIHN AW WIS HLAICH! 2]
6 (B) 3%
44 (D) 53
3%, 4% @R 53-9q Wy ITEAH 29

44 (D) 53
3%, 4% 3 53 3 owE

26 (B) 3°
44 (D) 53
35, 4% 3 53 ° ga@ w2 B

26 (B) 3°

44 (D) 53

SPACE FOR ROUGH WORK
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25.

25.

25.

25.

25.

For a bicycle rider, it is seen that for every two complete pedaling, the front wheel of
the bicycle makes 3 complete turns. If the radius of the bicycle wheel is 70 cm, the
distance (in metres) covered by the bicycle in 10 complete pedaling is

(A) Tn (B) 14n

(C) 21n (D) 28n

T B SR (RS (4l VT @ (S€ (TS qol Tl A NNCA BRI
SABFICOIE =7 3 #[1F T | A BIRCFeR b P 70 6. . =W, (98 *lewer 1060
9l PSSR FerE A2 (RB qe) wfowy Ffe 2

(A) 7m (B) 14n
(C) 21In (D) 28n

~

GF AT AEIRE (Fq 0¥ AW @ g6 ABICTe Aol 7ge e AN HIE fein
I

RG] Ao = | AW ARCICE B I 70 G WL =, ©@ 1016 A= wfiicwca ARt
o 91 g ([Worea) 2=

(A) 7m (B) 14n

(C) 21n (D) 28m

T ATEhal AT Jamte, fo deerat @= 2 Or fhfesen, famf amamen w= 3 arfifest| g
HEehal AT T@Enr 70 9. 1. SN, Stee Ueordl WH 10 UR fhfesan, @gehen 9@ MWH
(foewe) wrRaArTH?

(A) 7m (B) 14n
(C) 21n (D) 28n

T TTEfhd TaR o fau g <@ e R g @ qof Sefer % fore wmfeRa w1 swren ufean 3 ot
TS ST § | AfE TTEfohet o dfed w1 s 70 Wo Hio 7, @1 10 i Uefom # wwfera g0 @@ A
T g (He H) §

(A) 7 (B) 14n
(C) 21n (D) 28n

SPACE FOR ROUGH WORK
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26.

26.

26.

26.

26.

The base and the height of a right-angled triangle are equal in magnitude and the
length of the third side is 2v/2 cm. The area of the triangle is

(A) 2 sq. cm (B) 242 sq. cm

(C) 4 sq. cm (D) 442 sq. cm

9B AT fage BN WiF TwoR 7 AN WIF PORCn! %9 vy 242 b, . | [Uges
AT

(A) 2 3 ¢o. fi. (B) 2+/2 2of (5. fir.

(C) 4 3sf ¢v. f. (D) 442 39 (5. 3.

GBI fagres o € Twor #Ifel A 97RO A2 ey 242 G1. . | fageioy
CPazre] =2e]

A) 2 3of @1, . (B) 2+/2 3of @1, .

(C) 4 3of 1. . (D) 442 3of 1. fi.

T WY e gYmE g I S Marer we i fafa 31y stmnfuft amsengan
242 @, fi. | & smEnfSremfy wifern

(A) 2=t @, fa. (B) 2+2 =t @, fa.

(C) 4 =t @, fa. (D) 4+/2 =i @, fi.

T THAI P 1 MR R 3T Sars aimor § seR @ SR e e st e 242 Fo o
31 Bt =1 & @

(A) 2 =t Fo o (B) 2+/2 &t Fo o

(C) 4 =t Wo o (D) 4+/2 =t Fo o

27.

In a range of consecutive numbers starting with 1, all the even numbers are
removed. From the remaining, consider the first 7 numbers. The sum of these
7 numbers is

(A) 35 (B) 42
(C) 49 (D) 56

SPACE FOR ROUGH WORK
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27.

27.

27.

27.

19 7/} SA8 TN GNP A (FICA GBI ARTTS BA® Al ARCANCAN I TRy wre«iz. oy
2’5 | SERE TR A2 761 A R0 91 2% | G2 751 A 2 0T (R

(A) 35 (B) 42

(C) 49 (D) 56

1 W@ 26q TR AISER I (A0 MG (&I A AR el 290 | SRABSR (AT
2123 7f6 12 Reave 1 27 | G2 7M6 MR 9 23

(A) 35 (B) 42

(C) 49 (D) 56

1 S JRSFAE I SHNSET AREEE T S SHSHTERE! SENAE S | AR5
Tmfs 99 7 ARG 9 TR | S WE 7 SHSETERE ST SrE

(A) 35 (B) 42

(C) 49 (D) 56

1 ¥ Y& B et AR geedt i geen #, ot 9w ged ger f St ¥ 9w 6 ¥ yew
7 et W fomm fifsw) 373 7 dwnett o A 2

(A) 35 (B) 42

(C) 49 (D) 56

28.

28.

Two numbers A and B are first added and squared to get C. In the next step, B is
subtracted from A and the result is squared to get D. The result C — D expressed in
terms of A and B is

(A) A(A+B) (B) 4(A-B)
(C) Af (D) 4AB

WOl R4 A ¥ B I @9 39 F@ C (o[ 909 | #7891 B7fe A 7[ B [l Ff 3sf
IS D (MR A | C~DF A SF BS 2 FCe AFRIMCH 273

(A) A(A+B) (B) 4A-B)
©) A4B (D) 4AB

SPACE FOR ROUGH WORK
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28

28.

28.

7 R A € B (F AU @l 91 W GR 99 T¢I C A I/ | AF! 41 A (A B [l
1 B G FEIpE qof PACe D NS AR | A € B-«G3 AR AR C — D (F 2™ F¢e 31

(A) A(A+B) (B) 4(A-B)
(C) Af (D) 4AB

A I B ERME IEEAH - FE & g m ¢ Anam | 3 H wifeE B @ A fwm
aW@ A o o & feg= D 9| C - D@ A R B fo@ema wRARrsa

(A) A(A+B) (B) 4(A- B)
() Af (D) 4AB

C UTH F3 & foTU ugat 3 §&A1sT A 3T B bl ST Sl @ qT 39ehT o1 TohaT STl & | 3Tl =R
A, AW ¥ B & 921 ST @ 3R D " 1 & fow 39 aftory =1 anf foean strar 81 9o ¢ - D
Fl A X B % ®9 H =% i TN

(A) AA+B) (B) 4(A-B)
©) A4B (D) 4AB

29.

29.

29.

Find the least number by which 1250 must be multiplied to make it a perfect
square.

(A) 4 (B) 3

(€) 5 (D) 2

Ty B AT 12509 7[99 FEce Qb1 7j<fqaf JR2y ¢l AR 2

(A) 4 (B) 3

(C) 5 (D) 2

T FR A AR 1250 (@ @9 FAcE o 99 A AN AW GAfp iy v |
(A) 4 (B) 3

(C) 5 (D) 2

SPACE FOR ROUGH WORK
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29. 1250 @ 31g I WA o G SAISTHISH HHSTEAH |
(A) 4 (B) 3
€ 5 (D) 2
29. I8 <Ia9 G A1d Hife, @ 1250 1 v gt vt s= 6 fore 7o form st =nfu|
(A) 4 (B) 3
(€) 5 (D) 2
30. When the numerator of a fraction is multiplied by 4 and the denominator by 9,
the fraction reverses. The fraction is
4 2
S 3
© 5 ©)
30. 95l T TP 4 (T IF 29 9 (T 77 Face SR 2ARSCAM oIl IR | SEARATBT (2=
4 2
(A) 3 (B) 3
S 3
(€) ” (D) 2
30. M SARTE FRCF 4 7H R TACF 9 Al B¢ T 2¢e w2 Teeb A | waneeifs =@
4 2
(A) 5 (B) 3
5 3
(C) " (D) 5
30. SscT AFY SEEERI BHE 4 S AESsl A Sl 9 S, o siEeEeen et fifeet| o

TG

(A) (B)

NSNS IS NN
N|w WIN

(€) (D)

SPACE FOR ROUGH WORK
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30. v foreft firer & o791 &1 4 ¥ 3R @ & 9 W N foha ST &, 1 Tt Ite San 21 =g fiar @

(A) (B)

(€) (D)

NSNS IS NN
Nw W

31. At what percentage of simple interest does an amount of money double in 12 years?

(A) 919 (B) 81%
2 2
o) 8l D) 919
(€) (D)
3 3

31. 1 OO (FICT oA 12 =TT YO 789 770 e @q B« B 27 3110919 2

&) 919 (B) 81%
2 2

©) 81% (D) 9%
3 3

31. T T T *OIH 2T Fe 12 =0T @g 24 2

10 lO
(A) 95/0 (B) 82/0
10 10
() 85% (D) 9%
31. AFY AEIE! dERE 99 g1 TR g8 dHedll 12 SMNE o ST B ST
10 10
(A) 9% (B) 8%
10 lO
(C) 85% (D) 9%
31. HIERY S o fohae TfawTd W i gain 12 a6 # g & Smat?
10 10
(A) 9§A> (B) 82/0
10 10
(€) 85/0 (D) 93/0

SPACE FOR ROUGH WORK
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32. The ratio of the radii of two circles is 1 : 3. The ratio of their areas is
(A) 1:6 (B) 2:9
(C) 1:9 (D) 6:9
32. Wbl J99 W(PI%S SG7T 1 : 3. € O CFaFor Se 27
(A) 1:6 B) 2:9
(C) 1:9 (D) 6:9
32. ¥fb J0eT TP ST 1 @ 3. OIwa CFaFCER SIS 23]
(A) 1:6 (B) 2:9
(C) 1:9 (D) 6:9
32. @ HAM FEEHRH SS@mE 1 3. R i Ssramn
(A) 1:6 (B) 2:9
(C) 1:9 (D) 6:9
32. 31 gl st BIsoneti 1 AU 1 : 3 B 1 IH AABel Bl AU B
(A) 1:6 B) 2:9
(C) 1:9 (D) 6:9
33. 100% of 100 when added to 200% of 200 would result
(A) 300 (B) 400
(C) 500 (D) 600
33. 1009 100% F #19TS 200 T 200% 9] FECE FelTFe 279
(A) 300 (B) 400
(C) 500 (D) 600
33. 100-93 100%-93 ¢ 200-97 200% (5l FHCT FoIFe] 203

(A) 300 (B) 400
(C) 500 (D) 600

SPACE FOR ROUGH WORK
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33. 100 100% 3@ 20014 200% @ T=TEsAT HHTH
(A) 300 (B) 400
(C) 500 (D) 600

33. 200 % 200% H 100 T 100% Sie 9 qROmH T8 8
(A) 300 (B) 400
(C) 500 (D) 600

34. If a+b=8, b+c=20 and a+c =18, then the value of a?+b? is
(A) 34 (B) 43
(C) 46 (D) 64

34. M a+b =8, b+c =20 T<F a+c=18, (B a’+ b2 I 12’7
(A) 34 (B) 43
(C) 46 (D) 64

34. I a+b =8, b+c =20 4R a+c =18 7 ©{ a2 + b2-4d I 3
(A) 34 (B) 43
(C) 46 (D) 64

34. it a+ b =8, b+c=20 I a+c=18, 31 a? + b2 f1 °m
(A) 34 (B) 43
(C) 46 (D) 64

34. Ifc a+ b =8, b+c=203ﬁ'(a+c=18,ﬁa2+b23h‘l‘=lﬂ%
(A) 34 (B) 43
(C) 46 (D) 64
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35.

35.

35.

35.

35.

If 2* =32, then the value of x is

(A) 4 (B) 5
(C) 6 (D) 7
M 2% =32, (B x I A 2]

(A) 4 (B) 5
(C) 6 (D) 7
JM 2% = 32 27, OF x-9GF [ 29

(A) 4 (B) 5
(C) 6 (D) 7
Sfe 2% =32, st x T 7

(A) 4 (B) 5
(C) 6 (D) 7
Ffg 2% =32, @1 x 1 UE

(A) 4 (B) 5
(C) 6 (D) 7

36.

36.

36.

The sum of 5 consecutive odd numbers is found to be 95. The largest of the
numbers is

(Aa) 17 (B) 21
(C) 23 (D) 19
551 G SR TR @I9FE 95 (P11 931 | IRYCFHN SABIRSLF TSI IRACHT (20
(A) 17 (B) 21
(C) 23 (D) 19

56 e S AR @I9=FST 95 AN (ol | RS Texy 26 2
(A) 17 (B) 21
(C) 23 (D) 19

SPACE FOR ROUGH WORK
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36.

36.

HINS A 5 9 T SHANSHIGRM ISTemean 95. afrgs Sfee sHfSmmn e
(A) 17 (B) 21
(C) 23 (D) 19

5 AT foog et o1 I 95 UM ST 2 | Hed ol W @
(A) 17 (B) 21
(C) 23 (D) 19

37.

37.

37.

37.

37.

If the decimal number 34p5 is divisible by 9, then the value of p is
(A) 8 (B) 7
€) 4 (D) 6

Ifr wIfiiF =20 34p5 (51 9 @ ey =7, (908 p I WA 27
(A) 8 B) 7
C) 4 (D) 6

[ RS A2 34p5 b 9 =l [orey 23, OIRee p-«7 [+ B3

(A) 8 B) 7
(C) 4 (D) 6
Sfe swifier sHSET 34p5 @ 9 St THSAN, el pf wm
A) 8 (B) 7
(C) 4 (D) 6

Ife TIHeE & 34p5, 9 W oM B, A p I AR B
(A) 8 (B) 7
(C) 4 (D) 6

38.

The maximum area of the circle that can be drawn within a square of side 4 cm is
(A) 412 cm? (B) 4n cm?

2
©) T em? D) * cm?
4 4

SPACE FOR ROUGH WORK
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38.

38.

38.

38.

4 (5. M. 27 I9(CFq B[ fewqe SfF #[1 T8 B[ AHH CFaFe 27

(A) 4n? <sf 5. . (B) 4 3o (5. fX.

© Ll 6 R D) ™ 2o 5. fu.
4

4 1. . AERME @ I9(CFad [T0E@ HHCe [l Jred AEH CFIFel 20d

(A) 4n? <sf @1. . (B) 4n 3o 1. fil.

© Ll o o D) ™ <of n. .
4

4 9. fy. ratsr mar @i e a9 eaE sEa T e
(A) 4n? =i 9. i (B) 4n = & fir.

© Zaid fu D) ’faﬁa. .

4 Wo Ho AR & Tk ol & ofict T 1 T a1t I 1 SAferhan &owe @
(A) 4n? =t Fo o (B) 4n =t "o o

() %aﬁ@o o (D) ’faﬁao o

39.

39.

If today is Sunday, then the day after 92 days will be
(A) Saturday (B) Friday
(C) Sunday (D) Monday

T o1& IR 2, (o0 92 g I9 frelchl 2°7

(A) === (B) W@
(C) sfa™ (D) CTR™

SPACE FOR ROUGH WORK
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39. I e AR =, ©rEeE 92 e #[Fq fuelfo 2@

A) *FRE (B) W&

(C) aR=m= (D) CT=E
39. Sf¢ faf o Fe@m, steet 92 AWH 3@ |1 4F SETH?

(A) wHER (B) She

(C) Iemm (D) THaR
39. Ife a1 Toam 8, a 92 feai % =g = fe= g

(A) iHER (B) HaR

(C) Teram (D) HrER

40. When three times of a given number is subtracted from the square of the number,
the result is the number itself. The number is

(A) 4 (B) 2
(C) -2 (D) -4
40. (T &F MAF ISMAT 7/ FRACOA fofel @3¢ [l FReE 279 G2 TG, (o7l IR |
ARIICH C2C
(A) 4 (B) 2
(€ -2 (D) —4

40. @35 2me MAyF foq @9 FMRYMT 5 (AP [ T 7@l RN BETea @R 7R e

TR | ARG 291
(A) 4 (B) 2
(€) -2 (D) -4
40. Sfe 9 sHfTR ifier oy arsmememe qmE'R, seer e 9 sHfsEEE S e
EIEIR]
(A) 4 (B) 2
(C) -2 (D) -4

SPACE FOR ROUGH WORK
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40. v& fordt g @1 fF T 39 wEn & o ° uer fen Sar @, @ aform 9@ g w21 9

e ®
(A) 4 B) 2
€ -2 (D) -4

41. In Roman numeral, XCI represents the decimal number
(A) 41 (B) 21
(C) 91 (D) 111

41. QWA RN XCI @ ORI AT (20
(A) 41 (B) 21
(C) 91 (D) 111

41. @ 27 XCI 711 Bfee wa1 i s1e4nfs &1

(A) 41 (B) 21

(C) 91 (D) 111
41. WM g@RE XCI T gwifies =fsmm=n s

(A) 41 (B) 21

(C) 91 (D) 111
41. A 3R °§ XCI 59 Semea 9@ 1 gidiited o g, 98 8

A) 41 (B) 21

(C) 91 (D) 111

42. A ladder of length 13 m is leaning against a vertical wall with the upper end at the
height of 5 m. The horizontal distance between the foot of the wall and the lower
end of the ladder is

(A) 9 m (B) 5 m
(C) 11 m (D) 12 m

SPACE FOR ROUGH WORK
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42.

42,

42,

42,

13 . treiq el GO Tery (rdle @9 (e 1 e S B €0 Y90l 5 . Twere
SICR | (RIS MY, I @41 ©eTq Y99 e Shfefie 199 (27

A) 9 fx. (B) 5 fx.
(C) 11 f. (D) 12 fu.

13 fi. trcda (b 2 @3 Torm (SR AN GRS (2 SR @ OF ToEa a% 5 .
THO TEFS | (TEICET WO G- B TCh 20T Ty Wi 7g 2

A) 9 fi. (B) 5 fil.

(C) 11 . (D) 12 f.

13 . TieTa STReet 7ot iR SR meite 5 . shergme R gFW el | ST aTerTt-s
TES ST Memfef fefem siemsan sw?

(A) 9 fa. (B) 5 .

(C) 11 fa. (D) 12 fa.

13 Hio el T |G Th FHeATaw S W gehl g5 ¢, e Fud & 5 Ho i F=mg W | dEn
% feet TR 3T it & fieet TR & o= <t afas g ©

(A) 9 Hio (B) 5 o

(C) 11 #io (D) 12 #io

43.

43.

43.

The median of the sequence of numbers 2, -1, 3, 1, -2, 5, 6 is

(A) 1 B) -1
) 2 D) 3
2,-1,3,1, -2, 5, 6 RIITFICGR T (22

(A) 1 (B) -1
(C) 2 (D) 3

MY FFH 2, - 1, 3, 1, -2, 5, 6 -9 T4 2
(A) 1 (B) -1
(€) 2 (D) 3

SPACE FOR ROUGH WORK
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43. FEMMI WM 2, - 1, 3, 1, -2, 5, 617 T
(A) 1 (B) -1
(C) 2 (D) 3

43. TS % IHA 2, — 1, 3, 1, -2, 5, 6 H HIEAS ¢
(A) 1 (B) -1
() 2 (D) 3

44. A person moves along a path such that he is always away from a given point by
7 m. After moving for some time, he again reaches his starting point. The
approximate distance the person moved during the time is
(A) 22 m (B) 44 m
(C) 122 m (D) 144 m

44. g e §F owe [vE o[ w7 [ wg @R R 9 e e 6fe w9 1 ey
Gecd oife TR (98 T TG AEN e TS 20N | @2 RIS (96 TOFH 91 79
EIEERIDRET
A) 22 . (B) 44 f.
(C) 122 f. (D) 144 3.

44. 93 e 9T GO *1¥ 4 BF @ O AW G0 WWE 7y s 7 W, e ToR A |

fogel Dol 71 O WK Ol A fpee e | @@ e ceeed ety wfeawe

RIS 79 2e
(a) 22 f. (B) 44 fx.

(C) 122 f. (D) 144 3.

SPACE FOR ROUGH WORK
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44, 98 THRGET 38 AW SREERE oaeE del & o wee fagem seaet 7 . misme om
W gH AEEAEE 3 o e e SR Ghia | 3 gEEE gueeE 39 M

ofTEIRET ?
(a) 22 . (B) 44 fir.
(C) 122 . (D) 144 f.

44. TF AR TF 99 W 34 TR FAdl § 7o 98 U 70w forg @ guen 7 Hio w81 FB R T
% 918 I8 A IO AR forg W UgT ST 8| 39 WHA % SR ATk SR qd 6l Tl STgHT
e

(A) 22 Hio (B) 44 o

(C) 122 Hio (D) 144 o

45. A cube of volume 1 m? is cut equally into smaller cubes of volume 1cm? each. The

number of smaller cubes found is
(A) 10000 (B) 100000

(C) 1000 (D) 1000000

45. 1 99 fil. I 919 @OF 7@ 1 %4 (6. fil. SR Fgue A T s I Sferear 274 |
21e I G AR (AR

(A) 10000 (B) 100000

(C) 1000 (D) 1000000

45. 1 99 ¥, SRS GFb T FRAFID I FFCH PO 1 ¥ @1 W, IR e [oe
91 2 | Y T GRS AR 2

(A) 10000 (B) 100000

(C) 1000 (D) 1000000

SPACE FOR ROUGH WORK
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45.

45.

1 =9 . TS T T e EEE 1 e 9. L O S e e w i g Eiser, Teed
et =M STETTH?

(A) 10000 (B) 100000
(C) 1000 (D) 1000000

1 59 Hio 3THAA Tt Teh 89 bl 1 &9 Ho Hio A 1A SIS T H GHE &Y ¥ Il STal g | 91
T B AT I GE&T 8

(A) 10000 (B) 100000

(C) 1000 (D) 1000000

46.

46.

46.

46.

46.

The smallest positive integer that is simultaneously divisible by 6, 8 and 12 is
(A) 24 (B) 18
(C) 48 (D) 36

6, 8 T[F 12 (3 4T TS [erey JeToq G B2 FLLCH! 23
(A) 24 (B) 18
(C) 48 (D) 36

TSN ISP 7RI AN GF2 M 6, 8 &R 12 7H1 [eren, ¢ 2w

(A) 24 (B) 18

(C) 48 (D) 36

T gARH TeEdE T AN SIRRE 6, 8 AR 12 S THSRN, S Sl
(A) 24 (B) 18

(C) 48 (D) 36

T DIl THTCHE Ui, S T |19 6, 8 IR 12 ¥ fawrsa &,

(A) 24 (B) 18

(C) 48 (D) 36

SPACE FOR ROUGH WORK
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47. The difference between the smallest 3-digit even natural number and the largest
2-digit even natural number is
(A) 1 B) 2
©) 3 (D) 4

47. 3-SRFYS THIROCT TF I FIT R AF 2-WFYS A I FIGF TR 12 (207
(A) 1 (B) 2
€ 3 (D) 4

47. 3-SCF FUH T I IR G2 2-S[CF] IR TP I IR A& 212 291
(A) 1 (B) 2
€ 3 (D) 4

47. AMA 3-ENHEAT Tl SO s SR [RE 2-aFsmr Wiomm 99w saieE Tsa
AT BRI
(A) 1 (B) 2
€ 3 (D) 4

47. 3 37hi Sl TH DIl TTH{dR TH G 3R 2 37! hH God T UTehidh TH TEAT & o= Hl X &
(A) 1 (B) 2
€ 3 (D) 4

48. A number was increased by 40% and thereafter decreased by 40%. The net change
in the number in percentage is
(A) 16% increase (B) 16% decrease
(C) 32% decrease (D) No change

48. (FICN GOl TRATF AU 40% I I 276 F ©F Plee 40% M F91 273 | *[SR¥ AR

FRYICHE o “Ré (2w

(A) 16% I= (B) 16% Z™
(C) 32% 2™ (D) wlfafe®

SPACE FOR ROUGH WORK

SLRC—2024/P-111/ 1-F 40



48.

48.

48.

G MRATEF 40% I FA1 2 IR *[ISICS 40% 2P 1 27 | R ffdcd wamfog @b
[fRG 2e

(A) 16% I= (B) 16% Z™
(C) 32% ZM (D) S~fFafee

FoET AFY fomEt T 40% SEF™ SR SR 391 40% @UEARE ST | Sararstd o fsami
3T HIAETT STa

(A) 16% el (B) 16% @H &l

(C) 32% wH Sl (D) St W=

T G H 40% i Ihg T8 IR 3T 18 40% 5T & TS| FEA H I[E IRadd fowrd 8
(A) 16% 3 Ffg (B) 16% ! =Ht
(C) 32% =t =Ht (D) I3 e T

49,

49,

49,

If the average age of A, B and C is 22 years and the average age of B and C is
25 years, then find the age of A after 9 years from now.

(A) 25 years (B) 35 years

(C) 50 years (D) 45 years

M A, B S CF 9% I3 22 I29 ¥ B F C J 9% 7P 25 I8, (98 i #F0 9 I27q
e A3 a1 27

(A) 25 3= (B) 35 =

(C) 50 =7 (D) 45 3IA

I A, B 8 C-9F 9T I 22 928 GR B € C-9dF 51T 37 25 I=J =, ©F 94 (AF 9 I2d
7 A-99 T F© (A, T e |

(A) 25 =7 (B) 35 3=

(C) 50 =7 (D) 45 I=F

SPACE FOR ROUGH WORK
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49.

49,

Sfc A, B 3 T 7T sEie 22 dER A™ B AR C [ T S4ie 25 dhRse, 9 bR e
AT @ s« sa?

(A) 25 TR (B) 35 &ER

(C) 50 TER (D) 45 SER

i A, B 3R C il 37/8d 31y 22 a9 a1 B 3R C il 37wd 1 25 a9 2, @1 9 ¥ 9 41 918
A Sl 3T J1d shifS |

A) 25 =¥ (B) 35 =

(C) 50 = (D) 45 =4

50.

50.

50.

The smallest among \F, \F, \F and \F is
2" V3 \4 3
1 1
o o
1 2
o f: o
LS IR S
2° V3’ \4 3
1 1
o o
1 2
o f: o
1 1 1 2 .
\g, \g \/; ﬂa\\g @7 ey Fuew WG 2
1 1
o o :
1 2
o o 2

SPACE FOR ROUGH WORK
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50. \g \E, ﬁm\gﬁﬁwaﬁﬁ@w

1
(A) \g (B) 3
1 2
(©) \/; (D) 3
1 1 |1 2 ~
so. |11 L st |2 st e
1 1
(A) \g (B) 3
1 2
(©) Y (D) 3
51. Ifgz%zg, then XTYTZ i5 equal to
(A) 2 (B) 3
(C) 4 (D) 5
f_g_g X+y+z N
51.:@3_4_7,m . ERICI
(A) 2 (B) 3
(C) 4 (D) S
i_g_g )C+y+Z_
51.?@3—4—7,W . G A
(A) 2 (B) 3
(C) 4 (D) 5

SPACE FOR ROUGH WORK
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51. 3R X =Y _Z smen XY Z oy g swiw
3 4 7 z
(A) 2 (B) 3
) 4 (D) 5
51. aft XY _Z { XYY a2
4 7 z
(A) 2 (B) 3
(€) 4 (D) S
52. Two numbers are in the ratio 2 : 3 and the product of their HCF and LCM is 96.
The sum of the two numbers is
(A) 18 B) 20
(C) 22 (D) 24
52. TOI TR 2 : 3 TS TR A PRST 91773, OF #.3.8.-7 7[R 96. A (B I9RFe

52.

52.

€343
(A) 18 (B) 20
(C) 22 (D) 24

(b TR TS 2 ¢ 3 G O AT 8. QR F.B.-F BORFeT 96. I Ybe CAI51FeT 25

(A) 18 (B) 20

(C) 22 (D) 24

A oM SYS@EmE 2 0 3 R oM .38l AR 3.4 W aeseTEa 96. o foEH
AT ASITETTERT STTe

(A) 18 (B) 20

(C) 22 (D) 24

SPACE FOR ROUGH WORK

SLRC—2024/P-111/ 1-F 44



52. 3 TEAM 2 : 3 FAII H T N 39 Heqd THUEGS R Tgqd THUEE *1 PEGA 96 T | aMl

G A B
(A) 18 (B) 20
(C) 22 (D) 24

53. The value of Y82 is
A) 1 (B) 3

(€) 2 (D) 4

53. J82 RIoIEX]

(A) 1 (B) 3

(C) 2 (D) 4
53. ¥82 g W

(A) 1 (B) 3

C) 2 (D) 4
53. 82 fur

(A) 1 B) 3

C) 2 (D) 4

SPACE FOR ROUGH WORK
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53

82 mam 2
(A) 1 B) 3
€ 2 (D) 4

54.

54.

54.

54.

A certain amount invested in a firm would become double at the end of one month,
but it deducts an amount of ¥ 120 on every doubling. A person invests an amount
of ¥105 and continues for 3 months without investing any additional amount.
At the end of 3 months, his net income is

(A) ¥55 (B) ¥0
(C) T270 (D) ¥45
@I @3 IR 2fepie @ [ s a2 wwe @3 g ged AREeE =00, 58

2fSRICOIcT Ao & 799 2'cez ¥ 120 FIfb TMd | G Wepe2 92 dfovie & 105 e
FCE E (el S [ TP T 3 W2Le bels T | 3 W2 WS ARSI Yo SR

(A) ¥55 (B) ¥0
(€) 270 (D) 45

a5 W “ifFma =1l aasfs e Afewe [iNae s 3 o™ o Bed e I 98 ofe
R 120 (FG (1S = | GF& i € 105 [EENS T @R @I Sfofae  wifwe
ffeTcs 1 ¢ 3 I @0 (¥ | 3 WO ¢ @I (B S’ 3¢

(A) €55 (B) €0
(C) €270 (D) 45
Y BIATN HEHIAHE T SAYHSAT FE SeERETE o TS BEA SR U™ GEA TSI

HHAAT € 120 G I A ARG | 98 GIST o BIA FHAEE & 105 SH FHT TR Sall 3w
T B! o o et g 3 @niaar| g 3T e faerfy g s sme

(A) T35 (B) €0
(C) T270 (D) ¥45

SPACE FOR ROUGH WORK
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54.

wF wY A e i 72 v ffaa ufen v wde % o o Qg @ s, afe soE v e W
£ 120 K ufyr e <ft St 21w afth 3@ wH § T 105 1 FHaw war @ e fon fot srfafes
Tfyr 1 fremn oy 3 Wi ok IRY waar B1 3 W O 3fd H 3Teht g T Bt

(A) ¥55 (B) ¥0O
(C) T270 (D) ¥45

55.

55.

55.

55.

55.

The count of prime numbers between 80 and 100 is
(A) 2 (B) 5
€ 3 (D) 4

80 ¥ 100 I TEr® SAFe (NfeTss FT (F35! 2
(A) 2 B) 5
<€ 3 (D) 4

80 W3R 100-9F ¢ T[S (Mot 727 F 2
A) 2 (B) 5
(C) 3 (D) 4

80 3T 100 {7 TS Aigad Tar M 27
A) 2 (B) 5
C) 3 (D) 4

80 31 100 &= 319" g3t s TEdl 2
(A) 2 (B) 5
<€ 3 (D) 4

SPACE FOR ROUGH WORK
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56. Which of the following punctuation marks is called ‘apostrophe’?

57. Which of the following means similar to ‘elevated’?

(A) Topped
(B) Wished
(C) Promoted

(D) Transferred

58. What is meant by ‘to create a ruckus’?
(A) Make loud noise
(B) An artistic work
(C) Produce music

(D) Bake a cake

59. Which of the following sentences is correct?
(A) She had not coming to the wedding.
(B) She is not come to the wedding.
(C) She did not coming to the wedding.
(D) She is not coming to the wedding.

60. Choose the correct option :

We ___ the National Anthem every morning at school.
(A) sanged
(B) sing
(C) sings
(D) singed
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61. Which of the following pronouns refers to ‘myself’ ?
(A) We
(B) They
(C) I
(D) You

62. Identify the incorrectly spelt word.
(A) Damsel
(B) Wicked
(C) Volcano
(D) Mountein

63. Identify the correctly spelt word.

(A) Mongrel
(B) Marval
(C) Martal
(D) Middel

64. Identify the preposition in the following sentence :
The cat was sleeping under the cot.

(A) Sleeping

(B) Under
(C) Cot
(D) Was

65. Identify the incorrect set.
(A) Bad : Worse : Worst
(B) Poor : Poorest : Poorer
(C) Rich : Richer : Richest
(D) Good : Better : Best
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66. Identify the verb in the following sentence :
Neeraj ran very fast.
(A) Very
(B) Neeraj
(C) Fast
(D) Ran

67. Which word of the following is an example of pronoun?
(A) Again
(B) Pink
(C) They
(D) Speed

68. What would be the antonym of ‘friend’?
(A) Foe
(B) Unfriend
(C) Dislike
(D) Buddy

69. From the list below, identify the synonym of ‘lament’.
(A) Sad
(B) Mourn
(C) Copied
(D) Molecule

70. Which word is incorrectly spelt?
(A) Basically
(B) Essentially
(C) Primarily
(D) Varbally
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71. Give one-word substitution for ‘life history of a person written by another person’.
(A) Autobiography
(B) Biography
(C) Monograph
(D) Bigamy

72. What does ‘in a nutshell’ mean?
(A) Peanuts and almonds
(B) Very tough explanation
(C) Expressed in short

(D) Important discussion

73. Fill in the blank :
Tuhin ran ___ than Zubin to win the race.
(A) fast
(B) faster
(C) fastest
(D) fasting

74. Identify the collective noun for ‘dogs’.
(A) Gang
(B) Herd
(C) Team
(D) Pack

75. Which of the following punctuation marks is called ‘hyphen’?
A) ()

(B) (/)

< ()

(D) ()
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76. What is the opposite of ‘sorrow’?
(A) Joy
(B) Happy
(C) Laugh
(D) Beauty

77. Which of the following means ‘o get rid of a problem’?
(A) To hammer it out
(B) To get to the bottom of
(C) To get the monkey off one’s back
(D) To get the acts together

78. lIdentify the grammatically incorrect sentence.
(A) T want to go home now.
(B) I wish to go home now.
(C) I shall go home now.

(D) T went to go home now.

79. Choose the correct option :

Is your brother _____ to the gym?
(A) gone
(B) going
(C) go
(D) went

80. Which pronoun is used for ‘non-living thing’ ?
(A) I
(B) We
(C) Us
(D) It
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81. Identify the incorrectly spelt word.
(A) Monkey
(B) Moniker
(C) Matress
(D) Molten

82. Identify the adverb in the following sentence :
He could not go deep into the forest.
(A) Deep
(B) Go
(C) He
(D) Into

83. From the list below, identify the antonym of ‘cheap’.

(A) Price
(B) Poor
(C) Expensive
(D) Rice

84. What is the synonym of ‘furious’
(A) Laughter
(B) Witch
(C) Impure
(D) Angry

85. Identify the incorrectly spelt word.
(A) Square
(B) Parpendicular
(C) Diagonal
(D) Triangle
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86. Give one-word substitution for ‘a person who loots and plunders ships’.
(A) Robber
(B) Pirate
(C) Dacoit
(D) Looter

87. What is meant by ‘to get the green signal’ ?
(A) To stop others
(B) To go away
(C) To get permission

(D) To get the keys of a car

88. Fill in the blank :
Lokesh can jump very _____ .
(A) high
(B) higher
(C) highest
(D) tall

89. What is the collective noun for ‘ish’?

(A) Swarm

(B) Pack
(C) School
(D) Herd

90. Fill in the correct conjunctions in the following :

Reshma Padma knew the directions, and now they are lost.
(A) Either, or
(B) Both, and

(C) Not only, but also
(D) Neither, nor
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91.

91.

91.

91.

91.

The international festival ‘Kullu Dussehra’ is celebrated in which State?

(A) Himachal Pradesh (B) Uttarakhand
(C) Uttar Pradesh (D) Haryana

S NoF TAG g 71" (Pl TS [T Pl 2 2
(A) fBuTHeT 2o (B) Teqee
(C) Teq ziom (D) =<

IS Tew TR e MO (I A0S AT 77 2
(A) fesmeT 2w (B) Twaie
(C) Teq 2o (D) 2=

TSR BHE ‘Fg <90l o YT Hifem Sr?
(A) TedrE wem (B) ITTETE
(C) W = (D) BRI

FTE R g S b8 T | T Sl 27
(A) femma g (B) TGS
(C) IW e (D) =fmm

92.

92.

92.

The Bering Strait separates which two landmasses?

(A) Australia and New Zealand (B) The USA and Russia
(C) South Africa and Madagascar (D) Japan and China
AR 2NN P BT TLSF 72 P 2

(A) SCEfeR BF Fiefeces (B) SR IS4G S MR
(C) W% SRl S TMIeR_ (D) I ST B

Q@R 29T (I 75 TSI 7S ¢ 2
(A) STOLERT ¢ Fefrre (B) iR F=1g @ A
(C) Wil SRRl S TWISEE (D) I € B
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92. I FT-YAE I& WA BT-TI<G! SRamal?
(A) srefern emt el (B) 330 THo To TR AR
(C) e 3TTHehT 3T HETTEHT (D) SUM AW =4

92. ST SEfY foR &1 J-amTT T TeT At 7Y
(A) ITEfern iR =sficie (B) U ST I IR &F
(C) <feaur 3ThiehT 3TR ST (D) UM R =+

93. Who wrote the lyrics of ‘Alakananda’, sung by Shankuraj Konwar?
(A) Tonmoy Krypton (B) Sannidhya Bhuyan

(C) Joi Barua (D) Maitrayee Patar

93. *RPAIE (FIRCI (A SErFw’ A9 NS I 2
(A) TR TEFa (B) MIfsey gl
(C) =& Il (D) CCas! ~ma

93. *[FE (PR NS FeTFlerw1’ ol (F fereeee ?
(A) oI &b (B) Tifery g2z

(C) =& I (D) CICETt “Irex

93. IS Hiek T ‘ATl N Gofthan an?
(A) T fHaa (B) @< =1

(C) ST s&al (D) TRt 1eX

93. IS hidk N M T “HAARM<1 Ma foper fora?
(A) T TR (B) wrf=rear g

(C) S F&3T (D) F=ft areX
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94. The real name of crime thriller writer Ranju Hazarika is
(A) Satyanath Bora (B) Pabitra Kumar Deka
(C) Hiren Gohain (D) Kumud Chandra Hazarika
94, SRILYFS (INIETT FIMRAN (T4 g SRR SAoeT 9 & 2
(A) STorETe 941 (B) i@ 919 Tl
(C) 2AET (23 (D) T bF P
94, TIRILLETS (NI FIR (F14F 9 AP AF© 7 F1 2
(A) STorETe =1 (B) “R@ FI= (TPl
(C) @ oIz (D) T 5% FASIHI
94, wEw YR foran g e e o get w7
(A) I & (B) Hfe FHR S
(C) et et (D) FYe == TS fehl
94. FTEH TUeR TRawh Tg TSihT 1 el I &
(A) HeEHT S (B) ufert R o
(C) Tem g (D) FHE ¥% BRI
95. Who wrote the children’s book Xanta-Xista Hrista-Pusta Mahadusto?

95.

95.

(A) Nabakanta Barua (B) Hiren Bhattacharyya
(C) Bhabendra Nath Saikia (D) Arup Kumar Dutta

B2 238 T2ME AN g A[fLe (e forfifee 2

(A) TRI I (B) 2 SHIBRA
(C) SEmN *FJM (D) S FAQ 7S

=BT ~[FF “TEAE 8B =B IR (7K1 2

(A) TPIZ I (B) BI& SHHR
(C) Scamene *2J (D) S FAR 7S
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95. Ty AERM fosa “wm-Red Tw-gw wegwd @t ar forai?

(A) e ST (B) fetd wer=md

(C) S5y iR (D) 789 AR <
95, =i hl J¥daHh, IMARTE THYE Helgy fhad foret?

(A) eI T (B) f& wer=md

(C) weg =1 Afern (D) 3T&T FUR &

96. Kanchipuram Saree is produced in which State?
(A) Kerala (B) Tamil Nadu

(C) Karnataka (D) Telangana
96. JIfes[q HMIT (T4 IETS TRA F91 27 ?
(A) T (B) Iy

(C) b (D) CoCERaMl

96. FIfes[H *If (P qcen TeAfre 27 2

(A) e (B) wIf¥erTg

(C) (b (D) Cecel
96. FHI-IJLH ANE! Fel TgsieTa fagi?

(A) T (B) TS

(C) wleh (D) TR
96. HEITH TS = IcuTed ford T=T # Brar 27

() A (B) dANIeHTg

(C) ieh (D) AHTHT

97. Who among the following was a famous painter?

(A) Vincent van Gogh (B) John Lennon

(C) Bob Marley (D) Marlon Brando
97. fafiRe (FMoRIF gae [y Haws fes 2

A) TS == a’a (B) & (T

(C) 3’7 weef (D) et Al
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97.

A @ GFe e DAt & 2
(A) ST e ato (B) S+ (5T

(C) 33 el (D) WICef ATl

97. TR T WX AHAT GErET Frei sniaumaH?
(A) Tireee 97 ™ (B) S o=
(C) & AT (D) e JTe’
97. f=fafga @& 9 #19 s uftg Femer on?
(A) Tage 3 (B) S o
(C) s wred (D) Hre SE
98. In which sport do Tania Choudhury and Nayanmoni Saikia from Assam represent

98.

98.

India?
(A) Lawn Bowls (B) Badminton

(C) Carrom (D) Judo

ST WIfeRll (DY S T HBFRNL (FRY (LeTe ©[qes aAfofig w2
(A) &3’ (B) @ofioe

(C) &V (D) Tl

SPTCE OIfeRll (BIYRT G2 el > (I Lo ©leed Afeffag o 2
(A) T 79 (B) TS

(C) N (D) sl
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98. MM AT =NeRl AR F9uf Tlhamn Raf S |1 ek ?

(A) & ad (B) efirea
(C) Fm (D) ¥’
98. 3@ I AT =NeR} 3T TI9 aferan forw ©at o v =1 wfaffeea st 27
(A) 1 arad (B) sefieq
(C) ¥ (D) eI

99. Identify the Badminton player.

(A) Dipa Karmakar (B) Pullela Gopichand
(C) Sania Mirza (D) Leander Paes
99. FTRGA (FLANFIF e T |
(A) T I (B) ~[C&wTl Contow
(C) wfera firett (D) FmeE e
99. T (RIS bfee T3 |
(A) T FHFE (B) =l conAmm
(C) miferar faret (D) Fraer ¢
99, i TeumE! ety
(A) €T FHHRR (B) geral MU=
(C) @t furst (D) forre ¥
99, Sefied faarl #i vg=nfy|
(A) T hHER (B) Ut TR
(C) @t firstt (D) ferier T@

100. In which sport did India not win a medal at 2020 Tokyo Olympics?
(A) Boxing (B) Weightlifting
(C) Taekwondo (D) Wrestling

SLRC-2024/pP-111/ 1-F 60



S ) [

100. 2020 5 TR~+Fe SRS (FFEY (FTS (Gl 27F e F41 e ?
(A) 1= (B) SIS
(C) DIRCIRICT (D) &=
100. 2020 GIfFe SAH[(F TS (FIo (LT P (ST ?
A) = (B) SICAICElET
(C) BRCPHRICT! (D) T3
100. 2020 AReEH 2fHst Afaffs TRErAETE IRAT 9° T Jed HHarRa ?
(A) FraEE™ (B) Fifer T@mm
(C) dTERaTE (D) EHARHM
100. ¥RA 4 2020 2w 3cfus ¥ e @ § ues 7€t Ssfiar?
(A) Faa (B) WRIIeH
(C) arIEHIe! (D)
101. The Diamond League is an annual series of competitions in which area?
(A) Swimming (B) Badminton
(C) Gymnastics (D) Track and Field Events
101. RS aAffare™ »R4e TN e S6l (@R (RFF P00 Sivs ?
(A) TCoR (B) CICfrHa
(C) fergfEs (D) &% I femq (2@
101. IS AfSCAToTeR X3/l TRTS 15 (I (T 0o TS ?
(A) SToR (B) IO
(C) Tt (D) I @R fFeeeq cem
101. 9FH SR TERIARAEN BIR SPMUe form e el st =t 17
(A) HHEET (B) Fsfired
(C) Tmfs® (D) 2 AR BIYRTE T AT
101. SMWE i ford ©a # Ufqaifiarsti Sl wa anfies @ 87
(A) TR (B) Sefiea
() forfeead (D) <& 3R Hieg WA
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102. Identify the incorrectly matched pair.

(A) Stefan Edberg : Cricket (B) Bjorn Borg : Lawn Tennis

(C) Tiger Woods : Golf (D) Cristiano Ronaldo : Football
102. WS ferel €71 @[l Hre w5 |

(A) fBcwa quasf : f&es (B) f&m1 29f : 1’91 (Bfevm

(C) iz Tuw : s (D) BT @ : Fo3@
102. EToICa (FEICA (el Hiee e |

(A) COF @1 : fEFeFd (B) w1 3of : =1 (Bfer

(C) Ti2eMa T : o (D) @M @MICEe! @ Fo3e
102. TRIFR sEEEE SO A

(A) Teewha Tgami : foche (B) =& & : @4 2|

(C) T 3IgH : Teh (D) ffEam’ e’ : Fead
102. Tad GAfAd S i T8 |

(A) I Tga : foone (B) =M @t : &t 2fE

(C) 2SR g&d : Meh (D) ferfeeamt TATee! @ Feard
103. Where is the National War Memorial located?

(A) Srinagar (B) New Delhi

(C) Tawang (D) Amritsar
103. JEF Y& ~rornd e w[izs ?

(A) Hesra (B) o frg

(C) Brar (D) o
103. B A TP (I QTS 2

(A) Heerm (B) g+ Wl

(C) <rear (D) =ong
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103. A IR 99 e o1 €7

(A) TR (B) e fegt

(C) e (D) TIaE
103. U™ Ig TRH wel o 27

(A) A (B) T faght

(C) (D) TR

104. Which of the following is the Mission Basundhara of the Government of Assam
related to?

(A) Fishery and livelihood
(B) Women empowerment
(C) Land records and land revenues

(D) Digital education

104. HRIRS @GR e PN ba3RT fNee Pl (e 2
(A) ST SN S
(B) 2wt >Repael
(C) Picersy o< B qrerg

(D) TS P

104. o (DR 0o SPT AP TR 2Pe Goo ?
(A) TR @ G
(B) = SN
(C) gf¥ Tt @ g AT
(D) fEfEore Mo

104. W TWERH I Sg-am@n TeE /s |amar 37
(A) T BRa IR ™= T=
(B) TSI TRIT WA
(C) BT-XEI TR BI-TWSIT
(D) fafsieet wetions
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104. 3799 9R & e sgu fefafad # @ frag gafa =7
(A) T AR TTSAfeR
(B) wiger wetiehentol
(C) ofw stfyer@ 3R W Tsa
(D) Teforea farenm

105. Which of the following organizations is not in the business of commercial vehicles?

(A) Larsen & Toubro (B) Mahindra & Mahindra
(C) Force Motors (D) Tata Motors
105. RIS (@I Afepm Afafens Tes TR AT v T2 2
(A) =Ce 9% 5T’ (B) W2wm 9% Wfewm
(C) 6 o= (D) Bior 59z
105. SIoq (Pl 2R e Tarzees e & w7 2
(A) FHEH SIS G (B) fzml = Wifzm@
(C) T IBaT (D) BI5T b
105. TR de HHAMT IR TR MR a7
(A) TR TS T (B) #le= U= Afe=
(C) wE med (D) 2rT Hed
105. F=fafaa & @ wF-o1 gred arfofsyes et & =eam T8 27
(A) W TE o (B) HfesT =g Higs
(C) ®IH Hied (D) 2T Hied

106. If the pH of a liquid is 50, then the liquid is
(A) alkaline in nature (B) neutral in nature
(C) liquid metal (D) acidic in nature
106. FICT o7 *MYq pH WM 5:0 3¢, (73 o191 2[R
(A) P eiphed (B) efrs apfeq
(C) w9 4T (D) wfi zrgfes
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106. <35 wqCe . @25, (pH) 5:0 2@, (13 @0
(A) I zgen (B) frmcers erphon
(C) o7 4T (D) = 2Fed
106. Sfc HHH AEE pHRAT 50, el o AEETEl
(A) TRe g (B) &5
(C) St &g (D) ufere s
106. S« et 5a =1 flo THo (pH) AF 5-0 8, @l 98 59 8
(A) Tepfd ® @ (B) Wehfd H qexy
(C) T 91g (D) WFd | A
107. Who is the Vice President of India, as on 1st of January, 2024?
(A) Gulab Chand Kataria (B) Ram Nath Kovind
(C) Jagdeep Dhankhar (D) Rajnath Singh
107. 1 SFEISI, 2024 ACACH SR ToRIEHNS (i ?
(A) TR 5% oI (B) I M &IR™
(C) oM (T (D) e B
107. 1 SRFEIAI, 2024 MCACF ©Heed TYREAN (3 2
(A) ColeT™ B oI (B) AN M (FIR™
(C) S g 9T (D) e Ik
107. 2024 "EAEH 1 STk erfdfeme TRaf oeTs grRRffeEr ar?
(A) TS T] AT (B) TH 1Y &<
(C) SFTET &Rt (D) Ty T
107. 1 SHeRl, 2024 1 R & ITEHTd i 27
(A) TS =8 Tl (B) 9 Y i
(C) ST e (D) T g
108. Which of the following belongs to Class I category of lever?

(A) Scissor (B) Wheelbarrow
(C) Human arm (D) Stapler
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108. RIS (@ 22 AR o =m@als 2
INe (B) e o
(C) @ 12 (D) CBoT
108. SIA @D 22w IfaR ferecas omsfs 2
(a) <o (B) TSIy
(C) T TS (D) SBII7eT
108. e e Hean oma 1 foemi fafefr?
(A) wmfa (B) et it
(C) "R st (D) WHAR
108. f=fefiad & @ =F-u1 <fiag it =en [ 2oft @ gafea 27
(A) = (B) e
(C) WM g (D) WU
109. The National Flag of which country has a white cross over red background?
(A) Brazil (B) Switzerland
(C) The United States of America (D) Japan
109. (FF (P TSR “[OIFTS 81 FEe 901 969 5 T2 5F =0z ?
(A) Fnfee (B) DREINCEIS
(C) S T3 (D) Il
109. (T (T SO A1 &le “IhPNee GH(b FWl F7 SICR ?
(A) e (B) YTEREN
(C) WIF Fea1g (D) S
109. ¥ TERA fHRfhermra Misn mef |rme T %9 37
(A) ST (B) YEoRcIUS
(C) AR SUTZ 1T (D) S
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109. forE 391 & T o | A YR W UF The G 27
(A) sITsfret (B) fErsde

=

(C) Y TS STl (D) ST

110. Which of the following is considered as the earliest compilation?

(A) Yajurveda (B) Atharvaveda
(C) Rigveda (D) Samaveda
110. RIS (FRICGR SBRSCT [l Aeer Jfel RKeava 41 27 2
(A) FTHET (B) ‘“SI2&E@m
(C) “doE’ (D) SrCaw
110. TEHF @FE0CE AT FAFer 2T [eawen w41 237 2
(A) FTHET (B) ‘S2€@w
(C) ‘“<eaw’ (D) “STINCEw
110. TR FeE satgs fifafem gyram foam fosme g gei?
(A) T (B) ‘sHerder’
(C) ‘fose’ (D) ‘@mee’
110. f=fafaa 4 @ fFe 9e@ ggen 9o /M1 STaT 27
(A) Ty (B) ‘srereiar’
(C) ‘FFaE (D) ‘@mae’

111. Which of the following places was a part of the Indus Valley Civilization?

(A) Machilipatnam (B) Babylon

(C) Mohenjo-daro (D) Byzantine
111. RIS FCE 29 B Teiel Tere omsafe 2

(A) TRfI#(Ge (B) Q@™

(C) FeRGMICAl (D) ARCEBIZA
111. e SfalRe @R 2@ B e Terom s et 2

(A) w=frereTy (B) FIRE

(C) WeEegmIcal (D) qRCerbiRe
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111. TEEH 99 SRR ey gRA Semta srrmE?

(A) HSATTT (B) sferer’=

(C) TS R’ (D) forf=es
111. Ffafea § & wH-81 W fg @ gerar & fewn o7

(A) HSlTzm (B) et

(C) TrEstiEe (D) i

112. Who among the following was involved in the Battle of Waterloo?

(A) Napoleon Bonaparte (B) Czar Nicholas

(C) Adolf Hitler (D) George Washington
112. T0E J&© FARRG (@R St oifee ?

(A) TR CTI#I6 (B) ficwmeTs @

(C) «Tw f2he™ (D) & qIfRGT
112. T Seierm W (@ SRR Joa Sive e ?

(A) TN @S (B) &R e

(C) @ f2bera (D) &% S
112. TERE BF™ W1 8T SR SEersi aisa &7

(A) 9 feRm ST (B) SR T '@m|

(C) TSe® feear (D) TSt anf¥ras
112. Tree it @k # Ffafad ¥ & &F wmiba on?

(A) SHfeE ST (B) ¥R feprerm

(C) TElew fgeer (D) St aTf¥Fres

113. Bhairabkunda is a trijunction of which of the following?
(A) Assam, Bhutan, China
(B) Assam, Bhutan, Arunachal Pradesh
(C) Assam, Bhutan, Sikkim
(D) Assam, Sikkim, Arunachal Pradesh
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113

113.

113.

113.

toTPe IR (@chl f[esm ez 2= 2
(A) SPH, PO, B
(B) SPT, PHI-, SREIbT |

(C) =PH, ToH, fofF

(D) =PT, ol Seeet 2o

qCvA (P oAl BT ARAIE (T35 ?
(A) P, TBM, B

(B) ST, B[, SIRECIGT 20

(C) =P, $o, Fifew

(D) =P, i, Srepeet 2o

EF-adT MEE o8 AT SAEATHR TRISHR SR ?
(A) T, gam, ==

(B) THM, YaH, 3TEUT=E Yo

(C) wmam, am, fafem

(D) 3tamm, faferm, STevmee geur

Fage Fmfafaa & 9 e Beam 27

(A) FEH, M, 4H

(B) 3TEH, ¥gH, TE0=d a9l

(C) wrem, sz, fafemm

(D) 3r&m, fafew, swomEe ye

114.

114.

Which of the following is generally salty in taste?
(A) Snowflake (B) Rainwater

(C) Flowing river water (D) Seawater

RIS (@R CTRm T AR 2
(A) PP (B) I=F°q ~A1
(C) @S TF “f (D) S [
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114. TooF @D MYRTS FICw S 2
(A) TR (B) 32 w1
(C) =_ifze we o (D) TR o
114, TEEH Fe&T TEER Tere ?
(A) STB-T=T (B) 3T@I-gTa
(C) SeAT™ o7 § (D) @nfa 3
114. Fefafad & @ FH-91 W5 ¥ 99=d: THehE g 87
(A) TEHeRTT (B) It T Ot
(C) &t et =1 It (D) wgg T It
115. Which of the following mountain ranges is in North-East India?
(A) Barail Range (B) Shivalik Range
(C) Satpura Range (D) Aravalli Range
115. fmffe (@ sHewen Teq-47 ses waiwe ?
(A) 2 RST=l (B) PRIfers ~ReTe
(C) ATS7[ *Rf@eT (D) SRR G
115. Tiood “Iee@sle T @Fb Teaed ORre S[iEe 2
(A) Q@RiEe “Heca (B) PRiIfere oRfow@
(C) Ao “Roc (D) =AM o
115. e Fe EHT AT A-HEST IR &7
(A) SIS ESIHET AT (B) farenfersr greiiam @it
(C) TaYW ST AT (D) AR TSHET ATR
115. frefafed § @ - vdd SJ@e ga 9wd § 27
(A) =R Aoft (B) franferes soft
(C) @ageT Avft (D) e gdd 2ft
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116.

116.

116.

116.

116.

Which of the following statements is incorrect?
(A) Lakshadweep is a Union Territory of India.
(B) Maldives is a Union Territory of India.

(C) Andaman and Nicobar Islands is a Union Territory of India.

(D) Puducherry is a Union Territory of India.

s @ 3% srum 2

(A) FAFFR SO G+ (FRR 2T ey |

(B) eTal?l ST Q¥ (FLR PTe qrey |

(C) S S CPRA B1717]g TReq G¥e (TR *MPre J7ey |
(D) ~[TCh]l SREH ¥ (T NP1 ey |

o

qNeea @ RIFSH e, 2

(A) FIFFIR7 SRCST G0 (FHOTS 26 |

(B) eTal?l SRCSH 4> (FHHOTC S |

(C) SHF € FIFRE B1717]6 SIS GFb (FHHOTS S |
(D)~ SRTeA 4L (TIPS S |

TeEf s faegfoen Mo T

(A) efgaT TRA T8 fies gmm TSt |

(B) Hrafgdn wRaH 7 st e TEst |

(C) AT=MM A T sr fgumemen yraf 7@ firestt gomm TEsh |
(D) YgeRIET vRAH T8 fiRestt GeiemE e |
frefafiaa § @ #9-a1 A e 27

(A) @Y WA T Th hEenida T B

(B) TICTEIT WA T Tsh ShgMidd Je9 2|

(C) 3TEAM TR FRIER FuTHg YR F1 TH HEIMad e 2|

(D) Ig= 9YRA 1 Teh hganierd T 2|

117.

The Equator, the Tropic of Capricorn and the Tropic of Cancer pass through which

continent?
(A) Asia (B) Australia
(C) South America (D) Africa
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117. (P TR e [RERCT, TG (@21 SF FHEo@E (@91 219 ¢2 ol 2
A) @ (B) SICEERI
(C) wiFel SR (D) IR
117. R, TGS ([ 998 FEOGE (1 (e TR 945 e So@ FCace ?
(A) «afem (B) STCGfeRI
(C) wiwpel SCfpl (D) =N
117. T5ga @, 7o @l 3R hehe T@IRT 96 BRRATST ST ?
(A) fen (B) regfern
(C) e AT (D) i
117. JEERET, FhU@ 3R wehian o Tereid & 2o [eRdt 27
(A) TR (B) aAfeferan
(C) afequr iR (D) AHIeHT
118. Which of the following is an island State of the United States of America?
(A) Madagascar (B) Canary Islands
(C) Hawaii (D) Greenland
118. RS @R SRS TSE 93+ e[ 2
(A) IR (B) (IR SABCe1e
(C) =R (D) Fcers
118. Fioa @D MFT ISE G0 A7=I1E 2
(A) SISRE (B) I @Ml
(C) e (D) TS
118. TEEN &1 SRR SiurE g T i wes?
(A) HTIETTRESR (B) *aft fgu
(C) =g (D) v
118. T=faiRad # & H-91 9g® TS SHNHT 1 Th 519 T &7
(A) HSTTRER (B) &t g1
(C) T (D) ifete
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119. Sudden burst into the open of hot water and vapour from deep underground is

termed as

A) geyser B) volcano
gey

(C) tornado (D) tsunami

119. T4 SO “91 SI9 AN o1 AU~% Reweed fewee Fefe =l ARG (il 23

(A) T amad (B) ez
(C) Beefewl (D) D

119. STOIN P98 (AP S RO o9 &1 G =71 foisfe 2631 e
(A) T 2m19 (B) Sresafarfd
(C) gfefamy (D) i

119. et Erfafime e 2 g o ww e get
(A) forg Fan (B) 3% wi
(C) amHETE (D) gTfH

119. T o ¥ g § 7 Ut 3R 9T % STEME Bed i hEl Al @
(A) TSR (B) SoTeTgwEt
(C) wa=t (D) Gt

120. Which of the following is not a component of the Constitution of India?
(A) The Directive Principles of State Policy
(B) The Directive Rights of the Centre
(C) The Fundamental Rights
(D) The Fundamental Duties

120. RS (@R SRS TR ST 7= 2
(A) T ~ROERR e e
(B) T MO SKFE
(C) e S
(D) CMfeRe F97
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120.

120.

120.

T @D SRS TR TomIe 77 2
(A) MG ~AROERE e T

(B) w3 il wfiem

(C) CMfers S

(D) CNfeRe F97

e sea yraf afafsef s a=t?

(A) TgE faemmT weagmEn

(B) fereanf fereiea wiens

(C) TfeT Hg

(D) TfeAT HraHT BT

frfafiga @ @ F9-a1 27w vyra & afaum 3§ T8 77
A) =T % Hifg-Fever frga

(B) g = fgues fesr

(C) wifersh Aferepr

(D) Tifetsh wdea

121.

121.

121.

121.

121.

A continuous rise in the price level is called

(A) stagflation (B) deflation
(C) hyperinflation (D) inflation
ToT9 B9 G o (PIaT 2

(A) TRl (B) RIS

(C) wIfs Jurgife (D) Jurgife

(A) TepveTel-"Fife (B) SFife

(C) = JureHife (D) Jurgife

oTe T AT S8 Sierer™ SR gt

(A) RTRIEH (B) fewerem

(C) BTEUNETHRATH (D) FRITH

T T § Fie 9T 1 e S

(A) TTRITH (B) fewer™

(C) ETEEFATH (D) FWATH
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122. What does DAY stand for in the National Rural Livelihoods Mission (DAY-NRLM)?
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

122. R 2y Sifas Sfex  (DAY-NRLM)® DAYR 5 & 2
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

122. SoF AN S e (DAY-NRLM)-9 DAY @108 Fl (@R 2
(A) District Availability Yojana
(B) Deendayal Antyodaya Yojana
(C) Deendayal Ayurvedic Yojana

(D) District Achievement Yojana

122. “¥FA WA AEHiags TRE (DAY-NRLM )@ DAY H1 JSHI17
(A) Teafeae smfafafafa asmr (District Availability Yojana)
(B) dFearet 31=ded AT (Deendayal Antyodaya Yojana)
(C) dFeaTa Agdfes ASHT (Deendayal Ayurvedic Yojana)
(D) feafede wfasm= AsMT (District Achievement Yojana)

122. TFH T Arsfifast feM [National Rural Livelihood Mission (DAY-NRLM)] # DAY &
7 a1 =27

(A) 5o Suetsgar JSHT (District Availability Yojana)
(B) dMeaTet 3T@NEd AT (Deendayal Antyodaya Yojana)
(C) dFeaa aTﬂﬁﬁ% AT (Deendayal Ayurvedic Yojana)
(D) fStel Suafsy ASAT (District Achievement Yojana)
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123. Which of the following novels was written by Padma Shri Rongbong Terang?
(A) Mrityunjay (B) Oximot Jar Heral Xeema
(C) Rongmilir Hanhi (D) Miri Jiyori
123. FRERS @ Toam “mal 582 (S0 o1 PIACR ?
A) ToGT (B) TN FIF (29T S
(C) e 2if2 (D) T &za1
123. TR @R TP @S [ (SR A A 2
A) JoeF (B) 7Iw® 19 (e ST
(C) Ffferg 2if2 (D) R Era
123. TREH ¢ g 7@ 99 @ quet e mE?
(A) gog==T (B) 37dma SR &xret dimr
(C) IR &ife (D) faft forert
123. FfafEa # & wH-81 3u=me w=ef T ai gr fomn mne
(A) ggoT (B) 37dIHa IR &0 T
(C) TIfAfer &gt (D) iRt forert
124. Which of the following is not a Central Armed Police Force of India?
(A) Indian Coast Guard (ICG)
(B) Sashastra Seema Bal (SSB)
(C) National Security Guard (NSG)
(D) Central Industrial Security Force (CISF)
124, SRR GG SO (TR THE TR BT =T 2

(A) SR Tope TRl (ICG)

(B) & ST 31 (SSB)

(C) B = 6 (NSG)

(D) @R Srifes far-rerifzat (CISF)
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124.

124.

124.

ACHe (I SRS (PR I ~[feraifaat =7 2
(A) SRR T7ge RSl (ICG)

(B) >™rF ST 79 (SSB)

(C) <IBH =1 o (NSG)

(D) TR Srmife FRererfz (CISF)

T Fe T TRaH e SR Tty g T2
(A) 3f=E= wE TE (ICG)

(B) & fomt s/t (SSB)

(C) Jma fafwsfdfe mE (NSG)

(D) ¥ gerfesder fufrsfife v (CISF)

frefafaa 8 @ #9-a1 ara o1 B g el 59 T 27
(A) WA detess o (ICG)

(B) @wrE €M1 97 (SSB)

(C) T geaar M (NSG)

(D) s 3fenfies granm s (CISF)

125.

125.

125.

125.

What is the chemical symbol for silver?
(A) Ag (B) Si
(C) Sv (D) Au

T IPTRF FALF© 5 2

(A) Ag (B) Si
(C) Sv (D) Au
FR IS AT Ft 2

(A) Ag (B) Si
(C) Sv (D) Au
FHI T fefesrtem ar?

(A) Ag (B) Si
(C) Sv (D) Au
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125, wiel ol TS g #1287
(A) Ag (B) Si
(C) Sv (D) Au

126. Who is the President of the USA, as on 1lst of January, 2024?
(A) Barack Obama (B) Donald Trump
(C) Joe Biden (D) Rishi Sunak

126. 1 SFEISI, 2024 ACACH AP TS UGS (el 2

(A) JETE S (B) (TS G

(C) & AfEces (D) o T
126. 1 SRS, 2024 ACCTF TR TSACET 1371 (2

(A) I SN (B) C(TFIF® G2

(C) Cel ABCTA (D) 4 7
126. 2024 AEATEH 1 STFATR @I SRR S TetH SRRATET 9

(A) TR 1= (B) &lcs 2H

(C)  =mged (D) Teaft gk
126. 1 SHadl, 2024 &I GYF TsT IR 1 Tgufd & 27

(A) TR A= (B) ©HTes 2r

O BEIREES (D) ¥ g

127. Which of the following is considered as the powerhouse of an animal cell?
(A) Nucleus (B) Golgi apparatus
(C) Ribosome (D) Mitochondria

127. e @GR AN @RS e <qre el [eav 41 29 2

(A) PN &F (B) a’&fe 19
(C) IX'®’Y (D) =Bl
127. oI @FE0E AN @IEd ¥feq T 2 [ w1 =02
(A) Frefmm (B) aleIf& 3%
(C) RSN (D) SRCHIRgE
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127. TMeE se@ [ fSafgera amm e iy g8 fufmm smne
(A) Fomfa fre (B) AR Tirogm
(C) TEa's™ (D) e i
127. Frefefaa & & ford agg ifsTeRt 1 qTerersd qHT S 87
(A) e (B) st @
(C) E=TE (D) Wi
128. Which of the following countries does not have a seashore?
(A) China (B) Afghanistan
(C) Myanmar (D) Iran
128. FHfERS e (e M5 Tope wiR 2
(&) 5= (B) el
(C) =TT (D) =
128. Siod (I (Ifbe TITSH TR 2
(A) 5= (B) wreliferT
(C) ST (D) 2
128. TR s« BTETEl ol W e
(A) == (B) STHTEAH
(C) =HR (D) =
128. ffafad & @ fFa 391 9 wysde 7 27
(A) == (B) STHIEAH
(C) mm (D) =M
129. The world’s largest island Greenland is a part of which of the following countries?
(A) Denmark (B) Sweden
(C) Canada (D) Iceland
129. A9 2o A7, TEY @FEILe O S5 2

(A) (TP (B) DECwA
(C) F=Ie (D) SI25CEe
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129. RO 2o A7 &ATeS (@R (TeR =% 2

(A) (T (B) e

(C) <l (D) SIS
129. A A f5u et s greRf arem?

(A) =TT (B) ggad

(C) e (D) eMgEete
129. fova =1 9o¥ o€ 34, iHcre, fora 31 =1 v 27

(A) TR (B) Te

(C) ATeT (D) 3TgHcte
130. What was the last capital of Ahom Kingdom?

(A) Charaideo (B) Jorhat

(C) Rangpur (D) Garhgaon
130. SN ESHR RO el & i 2

(A) vaEs (B) @@2%

(C) 71 (D) Srwals
130. (2N AGCEA R AS (@D e 2

(A) vaRms (B) @=2%

(C) o (D) sTesils
130. 3T TS =T TSLmE - sgmH?

(A) =Eed (B) S&ETd

(C) T (D) T
130. &M FEsT h Afan Tser w-w off?

(A) =EEs (B) SIER

(C) T (D) e
131. What was the name of Srimanta Sankardeva’s grandmother?

(A) Aidew Aita (B) Jakoimoti
(C) Kherxuti (D) Soirindhri
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131. T3 *FCES o1 AROIF 19 6 oAifee 2

(A) wIETre wRel (B) wswel

(C) 7Sl (D) Cife
131. B *}FAEA PromER W Ji e 2

(A) EWS wTel (B) @ISl

(C) =TS (D) G
131. »ffu=a vieRat foefa g1 ame?

(A) SATIRE 3T (B) SeRHfd

(C) wgfa (D) @
131. *iuad Yioed HT STe &1 A\ =T AqT?

(A) 3TEES AT (B) Sehrgardt

(C) g (D) &
132. Who was known as the ‘Lion of Mysore’?

(A) Adil Shah (B) Hyder Ali

(C) Krishnaraja Wodeyar (D) Tipu Sultan
132, ‘RN PR’ (I SreTS e 2

(A) et 1z (B) 2@ W

(C) T ST (D) 167 perem
132. (3 “WREE Pz’ e A ot 2

(A) et *12 (B) =RWR el

(C) prererl ST (D) fbs] >erer
132. R ‘gew fag’ g ffemmE?

(A) 3Tt 7 (B) @rgeT SAredt

(C) FERTST 3R (D) fag geam
132, ‘HHL o IX ok AW G ToRe ST ST on?

(A) sTfee wme (B) X 3Tt

(C) FRTS FNeAR (D) & geam
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133. Which State of India has Jallianwala Bagh?

(A) Punjab (B) Haryana

(C) Rajasthan (D) Uttar Pradesh
133. SROIT (PO ey GieReEael &e 2

(A) “1&[ (B) ZIfEre

(C) &= (D) Teq 2o
133. SIS 9l SRS (F ACE SAES ?

(A) “N&S (B) 2frE

(C) &=l (D) Tex AW
133. ST S YRAH ¢ TSSIisTd &7

(A) TS (B) =TI

(C) TSEa (D) 3T 9T
133. SfemEme am 9ra & ford T § fera 27

(A) T (B) wfmm

(C) TsEa (D) 3T 9T
134. Which of the following countries was a part of the Axis Group during the

World War II?

(A) England (B) Japan

(C) France (D) Soviet Union
134. 0N [ea TS Ml (R o SFF (sbe SRAme oifes 2

(A) BTy (B) o[

(C) F™ (D) cRfScED Tefere
134. T origfm W @i faer e T srwifen s fost 2

(A) 3T (B) &=

(C) =™ (D) CAIfSEre I1eq
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134. AT Y7 @S THIE TMERTE 8 o6l §1aU Tferdd ST SerTHA?
(A) To= (B) STaH
(C) ®Td (D) @fiRa g3fem
134. ffaiad # 9 wF-a1 <1 o favags o M gf ag 1 feean on?
(A) T (B) ST
(C) wrE (D) e g=
135. The ruins of Angkor Wat are in which country?
(A) New Zealand (B) Indonesia
(C) Vietnam (D) Cambodia
135. 939 69 KSR (FICH! O ?
(A) fefecere (B) TCyicafeal
(C) bty (D) FcFIfe
135. S[FIOB-9q HINCR (P (0 R 2
(A) Fefeeme (B) 2w
(C) Tegree (D) ZcFIfe
135. AT ITdi IEEET STERTe e gTeld ¢
INIRESIERC (B) 3= <R
(C) e (D) v fean
135. 3R d1e & Weed o 3 7 27
(A) =T (B) e
(C) ferremm (D) wafea
136. Which of the following countries does Assam share international borders with?

(A) Bhutan and China

(B) China and Bangladesh
(C) Bangladesh and Bhutan
(D) Myanmar and Bangladesh
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136. FHREINS (FEER (PR PO SPICT SBEITeF ABE =K ¢ 2
(A) SO S B
(B) BIF 1= q<eTT
(C) AP SIF BT
(D) IR S FILETCH]

136. 57 (I (I8 SHIGR I@EfeF Aol ?
(A) TOF € B
(B) BIF @ et

(C) ETH € THI

(D) SRR 8 I

136. TEM 99 BRI SIS e T ?
(A) qTH 3 =
(B) = AT sTetmes
(C) STATSRT 3T =
(D) PIFER TR TSt

136. @n ffafea o & fo <o & o9 TausE HHn |ren widr 87
(A) e 3 =
(B) < 3T aWetTes
(C) STATERT 3R eH
(D) IR 3R IEATGH

137. If an airplane is flying directly from Chennai towards Guwahati, in which direction
is it flying?

(A) From South to East
(B) From East to West
(C) From West to East
(D) From North to East
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137.

137.

137.

137.

M Qe [ (AR 7 ARG (oIee (el TR =if2 ey, (908 R (@ ece! ite SR
107 ?

(A) WFFR #[1 s

(B) “[7 #[1 “A5wCat

(C) 5 *[[1 7[CeT

(D) TES °[1 e

T @3 R vafz (s wAEbR s SR Tee ar, o «ft @i Tuce 2
(A) wFpel (A 2me
(B) “H (AT oA
(C) M6 (AT 2= me
(D) Tes (A M

T fowa st gt =aEiEm EEEiiim o o %e, steen forn @ fame forai?
(A) TIATHEE HEST
(B) TSI FHTE
(C) THTEHEHR AT
(D) HTRTERTE HS

Ife g gaTs e 9= & WY et i 3R IeH W @ B, A 9% fRw e § 3gH R @ 77
(A) 3feror & gd it 3R
(B) 9d ¥ ufvem i 3R
(C) |fvem @ qd &l AR
(D) 3T H 94 I AR

138.

138.

138.

What is the Westernmost State of India?

(A) Rajasthan (B) Punjab
(C) Maharashtra (D) Gujarat
SIS SHITS(F AFEIS AP A& (I ?

(A) qrErEl (B) “IgR
(©) T=IE (D) @&

TS AAMETSN AT (F D ?
(A) IEEE (B) “NgR
(C) wW==1E (D) @&=b
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138. WRAMH GHTE &7 TSTIAT el ?

(A) TSR (B) u=a

(C) wewrg (D) Tsrd
138. IR o Tad UfTeHt T HH-T1 27

(A) TSI (B) USE

(C) wewrg (D) st
139. Which of the following peaks does not belong to the Himalayas?

(A) Annapurna (B) Kangto

(C) Anamudi (D) Kamet
139. ffeTI® (FRICHT %9l f2aeme smafe = 2

(A) e (B) JIHI

(C) smrf (D) FlcTS
139. T (@ b AR wrwsfe 73 2

(A) (B) PICHI

(C) = (D) <SG
139. TemE 9« fuRafrer aemf T=r?

(A) st (B) wa

(C) emf (D) hrHe
139. fr=fefaa & & -t =it feurem @ weifera =i 27

(A) st (B)

(C) mmd (D) e
140. The Great Barrier Reef is located in the seas near which continent?

(A) North America (B) Australia

(C) Africa (D) Europe
140. (FF TRCTE AN[ A0S J2R 276 2D S ?

(A) Teq S (B) wwcgfomam
(C) el (D) TTEM
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140. J2< 2 2B (b WFEE [7F) @R TR Wead 7w S| 2

(A) Teq SR (B) SCGfeRT

(C) =l (D) 2T
140. U2 IR T 96 TRRET WU deierE g7

(A) IT AT (B) 3o

(C) st (D) 33
140. Uz dfer d% fore Aeri * feke agz o ferq &7

(A) I iR (B) aFreferm

(C) b (D) =™
141. Which of the following is a mountain range of South America?

(A) Andes (B) Karakoram

(C) Alps (D) Caucasus
141. RIS @O 7 SERIE GF ARG 2

(8) dfew (B) FEICHEN

(C) Slz= (D) IR
141. A @ED 75 ERIE G0 7T 2

(A) snfre (B) FRICHEN

(C) SRt (D) T
141. TEEN S&IT WieAT ARSI ST BT ?

(A) T (B) RIHH

(C) Ted™ (D) HhdTE
141. Ffafad & @ F9-o <faor smfe i wda s@en 37

A) TEN (B) HHIHIH

(C) 3o (D) hHTehe
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142. The giant waves caused by volcanic eruptions or earthquakes under the sea are
known as
(A) tsunami (B) cyclone
(C) blizzard (D) landslide

142, M99 Sfere @[ SCRER TralEe S=@l =2 38 F41 328 OF (PRl =
(A) perf (B) -l
(C) YIRS (D) g

142, LTS 0o AR HPLATS A $RFCR Tl 8 T2 S @1 2
(A) (B) gk
(C) TIFT (D) $frE

142, el foemE 3 2l SRS TH SETeHES SR T SerbRat S|
(A) gt (B) sIHIeTE
(C) T aRg@n (D) =1 fifermEmm

142. g% % 9 Sareige fSehie a1 Jshy 3 HRor 3 fommet aim sl el S 8
(A) g (B) =ihard
(C) SHHT q®E (D) s¥EerH

143. Who is the Chairman of the Rajya Sabha?
(A) The Prime Minister (B) The Vice President
(C) The Speaker of the Lok Sabha (D) The President

143. PN JLFF (Pl 27 ?
(A) ZHTE (B) Toagefs
(C) TSR U= (D) g~

143. PO S (2
(A) =T (B) ToRIgIf®
(C) (TSR ST=F (D) FEIfe

143. TS QAT STHIEATET Gr?
(A) TITET T (B) TIeT3 BRRAIR
(C) §3 et g (D) TTERATR
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143. TSI 991 61 37T I aidl a7

(A) T H (B) Swwrgufd
(C) HAAT AL (D) Tgufd

144. Who administers the Oath of Office to the President of India?
(A) The Prime Minister
(B) The Chief Justice of the Delhi High Court
(C) The Chief Justice of the Supreme Court
(D) The Speaker of the Lok Sabha

144. SRS FFSTF (P ¥ #[16 IR ?
(A) e
(B) &l T FyRIERE 25 SR
(C) TSN TRERR Y2 WX
(D) CEIRPTOR S

144. (3 SRS AZAMSE AR #15 FA 2
(A) T
(B) fralt T RIS 2 {1l
(C) Trex MR 24 [oEeife
(D) GTRPTSR S

144, XA TRRATET foem TH=iamrat 9 e ?
(A) TITETE T
(B) fegt st fafsentafs mere feemama
(C) eifeH fafsrenfats mer femmema
(D) g el glufii
144. YRA % AL 1 U8 il 39 S G 27
(A) TaH Tt
(B) fag! 3= =mamerd o g =t
(C) HaT= =T & &I =R
(D) TArRET TeAE

145. Which of the following musical instruments of Assam is usually made of bamboo?
(A) Doba (B) Mridanga
(C) Dotara (D) Toka
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145. FHGRS SPNT IR (FICH! MARECS e F e 2
(A) 7l (B) wesl
(C) crreal (D) B
145. b SfEfie S (i amRE® MaRere I iy tofF 21 2
(A) TR (B) =
(C) cmerl (D) Rl
145. TEEE B AEEA 96 Mgl Sfarsi S ?
(A) & (B) ga
(C) wamr (D) @Rl
145, =g & 9 o1Em 1 Shi9-91 Giiid ST SAHAR 9§19 9 o491 8id1 87
(A) = (B) e
(C) are (D) ¥
146. Where is the Tocklai Tea Research Centre located?
(A) Jorhat (B) Lakhimpur
(C) Tinsukia (D) Dhemaji
146. (GIFHI3 B2 SR (T T S-FS 2
(A) =2 (B) wiRw7a
(C) fTefpam (D) c¥Ife
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146. (G2 Bl ST (F% (AR SRES 2
(A) @R (B) @@
(C) fewprman (D) ca=I&
146. THTZ TG AR FHATT Fo2d &7
(A) SRErd (B) wefimge
(©) forgferam (D) e
146. IFaTE 9T AU g Hal 6d 87
(A) SRETe (B) T
(©) forgfmam (D) &mrsf
147. The Gita Press, a unit of Govind Bhawan Karyalaya, is located in which State?
(A) Uttarakhand (B) Himachal Pradesh
(C) Maharashtra (D) Uttar Pradesh
147. (3N S IR @B (9N TS (27, (F1E= TS SHTS 2
(A) Tearg (B) feaimeT eion
(C) 2IE (D) Teq 20
147. A (21, MW S« FROGER G0 Slol, (Fe S ST 2

A) Teqe (B) feswe aiom
(C) =g (D) Teq 2o
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147. TS waq wE@ M A @ikl Tdr 39 §e TEsied |7
(A) ITEUE (B) Temmra wewt
(C) AEMg (D) 3T 9T
147. fdr 99, Mide W FEiad il U 301, fh Ts 4 o 27
(A) ITEE (B) fewrerar waw
(C) wermg (D) 3 e
148. An hour during a day’s session when questions/issues may be raised without prior
notice in the Indian Parliament is called
(A) Freedom Hour (B) Lunch Hour
(C) Zero Hour (D) Party Hour
148. SR AOMS (FICl GOl e1q SATEETS ORI Solell SI2ce 2/ [wa =i T Ff<a 1
R i (A1 GEB] TS B Jfer (I =W 2
(A) =R F= (B) ROTZCSISH FeT
(C) T 1o (D) W& Sl
148. (I g6 WeaTs WL Donpieie Gh(b fi8 br q<e 24l /Rl s 7o 7 w@elfe
Tl SifPre 20e (1, ©IE A
(A) F& e (B) NIZCOIGCTd el
(C) [T FleT (D) wetare <pret
148. WRAM €O UM FYFIH S 99 Seal SERgSmEn |t /et e mfmsnems

forr grN, o T |/ gy
(A) 3eTe & (B) TFSEH 3Mer &
(C) wfera’ & (D) T &
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148, INd™ Tug ¥ foreft we faq & w9 § for forelt & g & wee /g 3oTU S |ehd aTel 39 U 0

%1 e AT 8
(A) A A (B) HEATE-HISH Tl
(C) T HTA (D) Sl Tt

149. Who is the Chairman of NITI Aayog?
(A) The Finance Minister
(B) The Prime Minister
(C) The Governor of the Reserve Bank of India

(D) The Vice President

149. SifS (NITI) SR SKFF (Fl 2
(A) e =@
(B) ezt
(C) SR fFeTs (@39 919efq
(D) Teeigefe

149. TS (NITI) SCCRE SL=F (F 2
(A) fre @
(B) T
(C) SReR fere WIcEd e
(D) Trmigefe

149. Hfifd (NITI) = SrefiEr ar?
(A) T =AY
(B) TITETE A
(C) vty et siepfa MR
(D) <ISTg TERMN

SLRC-2024/P-111/ 1-F 93 [ P.T.O.



149. Hfifd (NITI) TR o1 3Te98] A 27
A) foa wht
(B) W& Tt
(C) Wt T Sk 1 TaX
(D) Fwrgafd

150. The Numaligarh Refinery is in which district of Assam?
(A) Sivasagar (B) Jorhat

(C) Golaghat (D) Dibrugarh

150. “JREIOIE CNLISNT PR (Pl fEretre exizrs 2
(A) fRigeTeE (B) @b
(C) (oD (D) Tegore

150. “REI9TS CAEINR SPTCH (Pl (eI W7 2
(A) PRI (B) =26
(C) colrer=s (D) fegore

150. MM FARHTS orE AigErerdn ¢ S g7

(A) R (B) SeW@

(C) TTETR (D) fegme
150. FATCATE Rt stem o fore oot & feora 27

(A) RraEmr (B) @R

(C) TMemEe (D) fegme
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